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q) 37 for § Q) § IMfor & 3) 31 30T & ¥) 3, §, 31 &
Consider the following statements.

a) Under the Act of 1935, the residuary powers were given to the Governor General of India.
b) In United States the residuary powers are left to the States.

¢) In Canada the residuary powers are vested in the Provinces.
Which of the above statements are correct?

I)aandb 2)bandc 3)aandc 4)a,bandc
SISSIESCEIE
e avge
37) YR gReg srferf=d, 9%0% I) 37T ST &7 IMRUBRIET A Jgel el
) YRd WRPR MU, 9398 IT) dgmed foomm gt
&) IRA DR AUFIH, 9334 1) Sfecdier g™ FHGRINTG! Fads Tt
3) YR e T, 980 IV) Uidmed fGema=T ggah
R SR :
31 q & g
9) 1T v II I
) |\Y I I I
3) IO v I 1I
9) v II I I
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Match the pairs :
Act Provision
a) Indian Councils Act, 1909 I) The Crown no longer the source of authority
b) Govt. of India Act, 1919 IT) Dyarchy at the Centre
¢) Govt. of India Act, 1935 III) First time, separate representation to the
Muslim community
d) Indian Independence Act, 1947 IV) Dyarchy in the Provinces

Answer Options :

(a) (b) (o) (d)

1) I v || I
2) IV )i || I
3) I v I I
4 N || I )i

AR T PRIGT 9389 o3 AU THIT FAMHE Hletied] Iealaadd! Wiefiel e foaRTd er:
37) AU FHT qul AEHM FEAT I

9) FRAUM qAT & Faas AR Ufged! 69 S,

&) Stegl Al T [ARmHees AT FJUT H=A 3RY, degl [FeaT STeeRIMT Sf. I™i=; RIS 3.
) AfY™ THE Feed TRAT 3¢R T Jar %% WId P! ST

Tt SR
9) faer= 31, § 3Mfor & SRR ) fau™ 9, & 37ftr § RN
3) faum 1, § 37for § SRR ¥) faum 31, & I § R

Consider the following statements regarding changes made by the Indian Independence Act of
1947 in the position of Constituent Assembly :

a) The Constituent Assembly was made a fully sovereign body.

b) The Constituent Assembly became the first Parliamnt of free India.

¢) When the Constituent Assembly met as the Legislative body it was chaired by Dr. Rajendra Prasad
d) The total strength of the Constituent Assembly came down to 299 as against 389.

Answer Options :

1) Statements a, b and c are correct 2) Statements b, ¢ and d are correct

3) Statements a, b and d are correct 4) Statements a, ¢ and d are correct

ARIATERICHTd aTelle Ui BIvR RU a1 3R/ 3ed ?

a) TRIT S e[l b) BB RE I @M.

¢) STUTCATEAT AL Thiid Al ST, d) TRABIHGT T TROITAR B PO &7,
g IR :

9) (), (b), (¢) ?) (a), (¢), (d) 3) (a), (b), (d) 8) (a), (c)

Which of the statements given below is/are correct regarding Communism ?
a) Give up the lust for profit.

b) People should be paid generous wages.

¢) Means of production should be commonly owned.

d) Everyone should be made to work according to one’s need.

Answer Options :

1) (a),(b),(c) 2) (a),(c),(d) 3) (a),(b).(d) 4) (a),(c)
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9 UMM PR U a7 3/ 3mga ?

a) SIS qiede I YeAl H1 gl ardl.

b) AR ATHTgare FHfos giar.

Tff S :

1) ®h (a) R) wh (b) 3) A (a) AT (b) %) (a) T (b) L RN
Which of the statements given below is/are correct ?

a) Germany wanted “Capital and finished goods”.

b) When Communism was born imperialism was fast asleep ?

Answer Options :
1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)

Q) wfdem= [y Infor wite

93 4R, a’ve ISH ... I YRArT g At IfeErar SR Hisa.

9) AT PUTAT R) WIRF T 3) . Inig TS ¥) USId SaTeReled g%
On 13% December, 1946 moved the Objective Resolution in the Constituent Assembly of India.
1) Sucheta Kriplani 2) Sarojini Naidu

3) Dr. Rajendra Prasad 4) Pandit Jawaharlal Nehru

RATATAhT DIV 19 oot TRl ?

9) 99 fSIsR, B : SRR Hg% Gfu w9d IfEERT SRIa qise.

) R IAMRE, R8Y = FYS AT FATHT

3) Q€ AR, A% : YRR SHH Ay Wigd g Jfafid oo Faa: Ud ST el
¥) g THARY, QYo - : FRIUH IURT A Jifcd: FRrraR Tame=am dbedl.

Which of the following items is wrongly matched?

1) 11*" December, 1946 : - Jawaharlal Nehru moved the Objective Resolution in the
constituent Assembly.

2) 29t August, 1947 :  Drafting committee was set up

3) 26™ November, 1949 :  The people of India adopted enacted and gave to themselves
the Constitution.

4) 24% January, 1950 :  Constitution was finally signed by the members of the
Constituent Assembly.

R I[STICTAT WleAleTih! PIURAT RISl & TAIcgeR 938R STt TN FHT?

3) Ar G ) 3133?33 (PeH-39)

%) ARYRT FAG ) Hed 3IfIPR

T I :

9) 31, § 3701 & )T, PHIMTS 3) 31 IMftr & ¥) o 3for §

On 26™ November, 1949, which of the following provisions of the Constitution of India came
into effect?

a) Citizenship b) Elections (Article-324)

c¢) Provisional Praliament d) Fundamental Rights

Answer Options :

l1)a,bandc 2)b,candd 3)aandc 4)aandb

HERTE IASTUT ARRY HaT GEURIET AT : FERTE SAT0T HRE — HRRI IISTHRUT SA1f0T o / 9%
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gt QO fAETIRt Pior gahla e 2
37) g1 AT (Pifcegie rieel) AR U™ afid (difieifces sRfed!) el R/ 4o wuiaR
YRt/ AT (UTediHened) e,

) 51 feaeft gereR Fam Ba g @ el areR urasrdt RafenT arey @it St v g A e,

gt SR :

9) dhqes 3 ) $d% § 3) g ATy ¥) Qal AR

Which one of the following two statements is incorrect?

a) The Constituent Assembly turned into Legislative Assembly which got transformed into
Provisional Parliament of India.

b) On the day the Constitution was being signed it was drizzling outside and it was interpreted as
a sign of good omen.

Answer Options :

1)Only a 2) Only b 3)Bothaandb 4) Neither anorb

3) ¥ |9

Qe U faarme &,

37) fafesr gear & sfosRaa .

9) fic Aty F¥g Wi 3.

%) fafeyr ge Fala afte Fa<die e,

R PO RUH A2

) & ) d 3) @ 8 ) aRISUDT DI TEY
Consider the following statements :

a) The British Constitution is an unwritten constitution.

b) In Britain, the Parliament is supreme.

¢) Britain has the most flexible form of constitution.

Which of the above statements is rnot correct?
1)a 2)b 3)c 4) None of the above

TR ot AfIsel g SN 3R IoTgc-< SETaR! Il SiedT &al. (I sy fFas)

g1t . 9 (dferest) 1% #. ? (FIT)
a) YIS Ug 1) YRT TRPR PG 9R3Y
b) =R RSB i) fafesr e
¢) ISTYRU grfesied aw@ iii) SMuSsd g
d) TECT ISgugt iv) smRdt e
gt SR

@ m (© (@
9 O Gv i) (i)
) Gy G @ 3D
3) G @ Gy (i)
8) @ (i) Gy (D)

HERTE IASTUT TRRY AT GEURIETT AT : AERTY 10T HRE — MR IISTERUT ST0T o9 / 94
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Match the features of Indian Constitution with the sources borrowed from different constitu-

tions of the world. (use correct codes)
List 1 - Features

List 2 - Sources

a) Office of the Governor 1) Government of India Act 1935
b) Judicial Review 11) British Constitution

¢) Directive Principles of State policy 111) Ireland Constitution

d) Parliamentary System of Government 1v) American Constitution

Answer Options :

@ ®d (© @
1) (1) (iv) (iii) (ii)
2)  (iv) (iii) (1) (ii)
3) (i) (1) (iv) (i1)
4) (1) (iii) (iv) (ii)

AT BT /HU 3T
37) PR ADBIATEERST S 8 TSTRIID e,
q) PTE DA S & SIS AR
gl SR
9) ek 37 ) Beh § 3) 37 T 9 gl ¥) 37 3T g gl ARl
Select the correct statement/s.
a) Some democratic countries are republics.
b) Some democratic countries are not republics.
Answer Options :
1)Only a 2) Obly b 3)Bothaandb 4) Neither anorb
SIEZICIC]
|9 -1 Y - 11

a) TPIcHD TRDPR i) ST, eTTfeean
b) T WRPR i) 9Rd
c) g, &b. A iii) g T ST TRBRIT T arey
d) g, . T. e iv) S99 T dhg, IRPRBS Biod
qIRit SR :

@ b (© @
q)  (iii) (1) (iv) (i1)
) Gv) (i) @) (ii)
3) (i) (i G (@)
8)  (iii) (iv) (i1) (1)
Match the following

List - I List - IT

a) Unitary Government 1) Germany, Austria
b) Federal Government i1) India
¢) UK, France 111) Division of power between Central and State Governments
d) USA, Canada 1v) Whole power upon Central Government

HERTE IASTUT ARRY AaT GEURIET AT : TERTE 10T HRE — IR IISTHROT JATOT 6T / 9%,
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Answer Options :

@ ®d (© @
1) (iii) (1) (iv) (ii)
2)  (iv) (iii) (1) (i1)
3) (i) (1) (iii) (iv)
4)  (iii) (iv) (ii) (1)

y) gEr - A 37ftr g - B Helies IR ST el

- A ¥ - B
a) TRl ARTRepeT i) §8 (Ih)
b) AR AT i) 3R (JTAQ)
¢) YT URUTH Areefed aw iii) 3MMI®S
d) be—I5g AgUTches FHac Jat iv) egfosam
g IR

@ b (© (@
9) (1) (i1) (1i1) (iv)
) (v) (1i1) (i1) (1)
3) G @ Gv) (i)
8) () Gv) @ (D)
5) Match the following pairs List "A" with List "B"

List - A List - B
a) Single Citizenship 1) United Kingdom (UK)
b) Judicial Review 11) America (USA)
c¢) Directive Principles of State Policy 111) Ireland

d) Concurrent list in Union-State Relation 1v) Australia
Answer Options :
(a) (b) (c) (d)
1) (1) (i1) (ii1) (iv)
2) (iv) (ii1) (i1) (1)
3)  (iil) (1) (iv) (i1)
4) (i1) (iv) (1) (iii)

() G YR, S5 T Herd A, TEr de

9) YR ISTGSAT FRAMT /TG / I eaf3ehT — TRIa-HrTe e g o
) RGN TR Jeryd wRaeT - e 5

3) wfdumTeh 3w dfdnet

g) WU AgwTdl HeH g aRgal - AU R

) <ifeumTeR aRfiee

HERTE ASTURT ARRY HaT GEURIETT AT : FERTE SAT0T HRE — HRRT IISTHROT SA1fOT oI / 90
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q) YRR ISTEET WA/ ST — IRAEHrE! YA 9 aw

URAM fafded=ar UeAmT A= BT Bl ?

9) RIS STUfd SR o R) BIPATE GRPH FfpRoT

3) SHRAT AT {0 ) I3 Tebgl Ta.

How India faced the challenges of diversity ?

1) Creating awareness about Integration 2) Accepting the democratic view
3) Accepting the demands of the people 4) None of the above

) IR 1 12 S 2 2 G A el R 2

RgTefeTdehl PIUCAT TehRUNTT WRATAT HaiE IR STee-Teal Jeldd Aaa Adcall dqel Rl
JUIR ATEr /T R fear?

q) Rt TS foeg R TRBR Q) MY foog GoTE 5

3) BIEFT YRl fIog IR T ) faregt et for. faog YRT IR

In which of the following cases did the Supreme Court of India pronounce the verdict that the
basic structure of the Constitution cannt be amended by the Parliament?

1) Shankari Prasad vs Union of India 2) Golaknath vs State of Punjab
3) Kesavananda Bharti vs State of Kerala 4) Minerva Mills Ltd. vs Union of India

AR ISTECTAT ‘IS Abered] Tak ... T gIdl.

9) IoTECT Prel TSR I JMMEDH IRIATT Y Sif hegrd Xg PRl A AR,

R) IS SIRIPR AfAH PR I AR ST R o I A

3) ITIEUR 38R AW TG Pesedl HSAIGORITEAT Ugd! eiiRed 31 HRTH JISTEC 950 bRl IS
NERISIE

¥) ARATIHEY IS5 Dl S hd Alal PRUT Al STl YT 3RId ATgl.

The 'basic structure' theory of the Constitution of India is implied from

1) certain features of the Constitution are so essential to it that they cannot be abrogated.

2) Fundamental rights cannot be abridged or taken away.

3) the Constitution cannot be amended except in accordance with the procedure prescribed in
Article 368.
4) the Preamble cannot be amended for it is not a part of the Constitution.

geTeT o ARa-e ] Bl A OSdT JMUeled] Iealid FHUT PIURdT BRI el A ?
a) TSIt AT SRTeied] T8l TBT 3 =8V

b) IGT PBIBERIER el IRGUIRATS! YUIIU! 3Ta9Teh 3T FgUL.

¢) AMIRTeD, 3Mfdies g IsTehiy URRRI=AT FeHia ol 95al 3Maeded 3T FEUL.

d) ARTATT AT ARIBRAT oI o1 WRaUcilel Jcel PRURIS!.

IS IR AT -

9) I (a) ?) (), (b) 3N (c)  3) (b), (c) &M (d) @) ATl wf

HERTE IASTUT TR HaT GEURIET AT : FERTE 10T HRE - HIRRT IISTHROT SAfOT oI / 9¢
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On what grounds are changes in aspect of the basic structure of the Constitution Justified ?
a) Because it is the wish of the majority party in Parliament.

b) Because it is absolutely necessary in order to keep pace with changing time.

c) If the change is necessary in the context of Social, Economic and Political Milieux.

d) If the change is in the form of value addition to existing rights.

Correct Answer Options :

1) Only (a) 2) (a), (b) and (¢) 3) (b), (¢c) and (d) 4) All of the above

THRUETT 0T ...

9) T SAMOT ISTHEAT ThHDIART SHTed bRl

R) IEEEIP AU SCHIRIIGIT SRS AR SEIDH
3) urfifer Bos erigfur

8) TSI Tl A

Secularism means.........

1) separating church from the state

2) tolerant attitude of the majority community towards minorities.
3) stopping religious persecution

4) None of the above

IR FreHIuneT U ‘Higie’ A @1 76 TR ?

a) PRI IR IFH U g WIS HFM I G JTgdTd,

b) BRI ML [ T 3MMUS! INSed € 7 FxAT e A FRGal Teh gl

¢) AT HIURITST o Tehal 3T0r.

d) PHRU AR HIUATE eHieT I YFfd (state religion) T ML

gt SR :

) (a) R) (b) 3) N wd 8) (a) 3T (c)
Why is Indian Secularism called as a mosaic frame?

a) Because in it various religions and languages flourish with freedom and dignity.
b) Because in it all groups without losing their identity become a part of the composite culture.
¢) It unites common masses.

d) There is no state religion in India.

Answer Options :
1) (a) 2) (b) 3) All the above 4) (a) and (¢)

(T S AAHIAT Bl 3R ?

31) UH ST Tl

9) YHHeS ARG JRI&T ared.

%) Y 9T AR I emleEs o9 AT e,

3) gd FRAR radl.

g IR :

q) (3r) afor () R) (9) 3mfor () 3) (&) amfor (&) 8) (@) 3nfor (3)

HERTE IASTUT ARRY HaT GEURIETT AT : FERTE 10T HRE - HIRRT IISTHROT SAfOT oI / 9%



6)

7)

<)

8)

R)

For Private Circulation Only

Why are common people proud of religion?

a) Religion is innate.

b) Religion makes man feel secure.

c¢) Habit of religion creates love for religion in human heart.

d) Religion is continuous.

Answer Options :

1) (a) and (d) 2) (b) and (d) 3) (b) and (c) 4) (c) and (d)

Y ARG HRIVIU PRl 3 BT TECH S 2

37) RO AR GHiaR 87 3aar T & I8 e BRivEu e

) o AU RyerEHT aresa.

%) DRU UH TS0 FEUST LRI A 3a0] IR,

T) PRI g & 9T 3R,

gt SR

1) (3) 3mfor () ?) Hh () 3) (an) ST () 8) (31), (@) 3fdr (3)
Why is religion said to make man active?

a) Because man is loyal to religion and it is this loyalty that makes him active.
b) Religion makes a man persevere.

c¢) Because to practice religion is to be conscious of the goal.

d) Because religion is a habit.

Answer Options :
1) (b) and (¢) 2) (a) only 3) (a) and (¢) 4) (a), (¢) and (d)

AT HIURATST &F FgUST DRI < T HIEHT 99 ?

37) BRUT 'YH’ IT FHeUST 3D Bel SIdI.

) BRU GH I b F9T U TDRSBT IARI.

F) YT TS HE Il

) U TEUNST BT o STV HUATET ST T hosal Al
Tt S :

1) (3) amfor () ?) (an) 3o (3) 3) (30), (@) ofdr (&) ) (31), (%) 3 (3)
Why does the common man not know what religion is?
a) Because the concept of "religion" has many shades.

b) Because religion is adopted by him as a habit.

¢) He is proud of religion.

d) He did not pretend to know what religion is.

Answer Options :
1) (b) and (c) 2) (a) and (d) 3) (a), (b) and (c) 4) (a), (b) and (d)

lefie fIumtdT e fum 3w g ?

9) I3aT Bt & YHfARUeT ST e

Q) 3ITTSAT ) & YHFRUST ST SRTeAT Yrad gial.
3) ISR BRI @Bl Il JfIBRT AT B,
8) NPT T IS gRIGR T ST gl

HERTE IASTUT ARRY AT GEURIETT AT : AERTY 10T HRE — HRARI IISTERUT SATOT 99 / 20
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Which of the statements given below is correct ?

1) Henry VIII was a secular king

2) Henry VIII was pretending to be a secular king

3) Henry VIII defied the authority of the Vatican church.
4) Vatican church dominated Henry VIII.

i o Ryt PR A o,
a1) 2= VIII Rewtt erifareg @,

9) yHfRUET FERT 37 s FARAHT SIpid Furt d FEAMHT 3PS ST Aehei .
i SR :

9) Heh 3 ) Wh g 3) Q! 3 ST § 8) QeI ATEK.
Which of the following two statements is/are correct?

a) Henry VIII was against Christianity

b) Secularism is related only to the ordinary people so that they can lead ordinary lives.

Answer Options :
1) Only a 2) Only b 3)Bothaandb 4) Neither anorb

3) SiferRN I dfIre

gt PO R o o 2

a) WRAT UeblcHdeT T 318 Wy Ui fafdedeas gaier g,

b) SR QM ARDIID ATUAT TPHIHIN LT ST ST,

Tt W :

9) P (a) ?) & (b) 3) @7 (b) 3 8) (a) @ (b) SreIet el
Which of the following statements is incorrect ?

a) In India national integrity 1s accorded priority but the regional diversities are not overlooked.
b) In the other countries cultural diversities are considered a threat to the National Integrity.

Answer Options :
1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)

g) UMK Hewre B g aRgal — AU ¥i
CICIGREPISRECINCRSIE
37) R IASTISTI LGS R ¢ AR HERSITET HAT THeIed ¥ T FHIGST 3T T T
RS FATTHT IR 37Te.
¥) ARAR ISTECT IIEBT 3 ¢ SR SR heelRid UQeRIg 9 Iodied] T Hedt
3T THel SGeTed] TRal UM .
&) AR ISTECA SFSE 3 Well 3Rclel [T0T® g $ad Albayad Higel S &
RSB DU o= /7 A g /T 2
EUIDIRCH S
9) TNt T4 Q) T g 3) § affor & 8) Beh B

TERTE ASTATIT AR WaT qdusten Al : TgRTg Mo WRA - YRR ISTHIRT 10T o / 29
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Consider the following statements :

a) Article 2 of the Indian Constitution relates to admission or establishment of new States which
are not part of the Union of India.

b) Article 3 of the Indian Constitution provides for the formation of or changes in the existing
States including Union territories.

c) A Bill under Article 3 of the Indian Constitution shall be introduced only in the Lok Sabha.

Which of the above statements is/are correct?

Answer Options :

1) All of the above 2)aandb 3)bandc 4) Only ¢

Eleflel U e &
37) AR ISTGSHAT P €2 TR H¥eell PREGR ACAREI Teredl fhar 9 @it
UUIRIST dearedT SIfHHUITeRRAr aRds dRam Ad ?

¥) PHeM €2 TAR HRARAT IFAAHT AR ol STded TaTG AT PRI TUDHR 3.

et RuFider gHre BYF/S PUR?

9) 31 I 9 gl ) Beh 31 3) Wh § ) Qal U™ & 3med

Consider the following statements :

a) According to Article 262 of the Indian Constitution, the Parliament may by law provide for the
adjudication of interstate river water dispute.

b) Article 262 empowers the President of India to set up-an interstate river water dispute tribunal.

Select the incorrect statements/s :
1)Bothaandb 2) Only a 3) Only b 4) Both aand b are incorrect

ISTECH] I Hemmed Gl qoET IR argaul, of YRR s A id gedhiHl
STfehie AT TgUT SUANTN Jset AR foram fIpRT FRugrdt STeaeR] e AR et 3118 ?
9) DT 383 Q) DeH 3IYC 3) D 340 ¥) PhetH 349

Which Article of the Constitution provides that it shall be the duty of the Union to promote the
spread of the Hindi language, to develop it so that it may become the 'Lingua Franca' of the

composite culture of Inida?
1) Article 343 2) Article 348 3) Article 350 4) Article 351

3FTEE 3Y4R Well sfviiemfiear auETEd e e =i
37) foreaT SIYUIRET Ueh Afe-aTT s IR dl SATAISTIE HYE Id, SR el SAhaH SRETGR
RIS P FYTIRAT NG AT fHesTelt gl oR.
) Ipyciiern sofiEmol it axvarET MR or, AT IMGT WU AAHS®H F o aifd
FRUIS! fosfad FeouTd RIeRE dheft TR,
i SR :
Q) fym ‘of Wk Q) fum ‘T WeR 3) Qe QUM R ¥) aAerel o gebrat
Consider the statements regarding the proclamation of Emergency under Article 352 :
a) Itautomatically comes to an end on the expiry of one month from its issue, unless it is approved
by aresolution of the Lok Sabha before the expiry of that period
b) The President is empowered to proclaim Emergency only if the council of Ministers
recommends to him in writing that such a proclamation should be issued.
Answer Options :
1) Statement 'a' is correct 2) Statement 'b' is correct
3) Both the statements are correct 4) Both the statements are false

HERTE ISTATT AR AT GIuIeT AT : FERTE SAT0r WIR - MR IISThIRUT STfOT eRiT / Q2
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) wdfaemErE aRkfose

YR el ST IRIEHE BIel Gerieieprard HeH, T, fawiepr Sfor sor awlt g
FHIAI 3R, WleiieTich! PO YSTRIBRY AT FHTAE T8 ?

9) fIumTEd IuFHTh ?) faumuRucy Iurees

3) YRR AgTfIeah ¥) YRA RIS T HeleaToNIed

The Second Schedule of the Indian Constitution mentions salary, allowances and other privileges
of certain officials. Which one of the following is not amongst those officials?

1) The Deputy Speaker of Legislative Assembly

2) The Deputy Chairman of Legislative Council

3) The Attorney General of India

4) The Comptroller and Auditor General of India

qrerT feba wfcTeiie T HRAR TS ... ST FHIIE PRUITT 3fTes 3.

q) Sgrea ?) HERAT 3) fom=a 8) dfgedn

Forms of Oaths or Affirmations are included in the ........... schedule of the Indian Constitution.
1) tenth 2) sixth 3) third 4) first

I RCRIE RIS R

3T) SIS TaedT fAURT el TRaal a1 UraeaT IRRET FHIET SRTeledl &= SN, e,
§) UrIT IRRISIT AT SRIVTAT &51d HId ST THET 2.

B) IRR& HEA TAGH AT &SI PESA WBragT HoR bl

RITeDT DIV e/ faer 3reeh e ?

q) af 3Mmfor ¥ ) 31 efftr & 3) Beh 3 ¥) NI A

Consider the following statements :

a) The provisions of Part IX of the Constitution relating to the Panchayats are not applicable to
the Fifth Schedule Areas.

b) Atpresent seven states have Fifth Schedule Areas.

¢) The Parliament has enacted the PESA Act in 1996 for such areas.

Which of the above statements is/are correct?

I)aandb 2)aandc 3) Only a 4) All of the above

(3) TSAIGERIL, AfAUHITE RN A0 He

TSHAIGER HfhaT T HgwaredT TeAIgowRal
RS AT - fa<T START, RaSU[E SN, FArhaT 3TN, TICHRIINT, TTUCHRAT, ToRitail

g AU U
fafay feTReacaTcHes Aficar, 3INT, 4 — A< g2 SRR, AfgeT SRR, HATfgel STRINT, el 3TN

TERTE ISTATT AR AT GuRte Al : TERTE A0 W - HRA IISTHIRT 107 oTRT / 3
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q) HEAIGORI! Ufshal 9 Hewaredl HeATgoeedl

WTefier fau™ faaRma &1 o7ftr 9 gatg e

a) WRAT, Tl GOkl [q8eh hass IFeal Jd-IRaii AFGHET Higel SiTSs e,

b) 3R Tl TS GO fhHT G-l aie Teeh Jrogied faftrsoigR el ol sraeaed
3.

c) feasiefs Hed IvTTCHHE] helell gl AT fdetd BedTRIaR SHAd Ug Mhd g,

d) IR, ISTgC-HEd It hac el AUREH dheled] DRITIGR PRl Idl.

i SR :

) (a), (b), (¢) R) (b), (¢), (d) 3) W (a) M7 (b)  8) Th (c) MM (d)

Consider the following statements and choose the correct code.

a) In india, a constitutional amendment bill can be introduced in the parliament only with the
prior permission of the President.

b) In U.S.A., every constitutional amendment must be ratified by at least two-thirds of the state
legislature.

¢) In Switzeland, no alternation of the constitution can be effected without resorting to a
referendum.

d) In Australia, the constitution can be altered only by an Act passed by an absolute majority in
both houses.

Answer Options :

1) (a), (b), () 2) (b), (¢), (d) 3)Only (a)and (b)  4)Only (c) and (d)

WHIS faumitdT S U ReR 7787 2

37) HeAIGOR AU § WaTen HxThg STl @SN AHRIGIRPGT Hise IS el ST TS
RIOCEAT Yd URATRITE ! RS 7.

9) TG fateTes J1ogi fhell DL FHdt erdl Arered iR e e,

AT S :

9) thad 3 ) Bad § 3) Qival oF IMfor ¥) TRIGURT Tepgl AT

Which one of the following is not correct?

a) The Amendment bill can be introduced either by a minister or by a private member and does
not require prior permission of the President.

b) There is no time limit within which the States should give their consent to the Amendment bill.
Answer Options :

1) Only a 2) Only b 3)Bothaandb 4) None of the above

GIBIGUD! DI WeedTal YRUTH UL Fe 8 a1 TS Govi! DIRIGI A hedl ?

9) MBPATY TTH] ?) fiFeRt iy @eat

3) BEMFE YRl GedT Q) 9Pl TS W

Which one of the following cases prompted the Parliament to enact 24th Constitutional
Amendment Act?

1) Golaknath case 2) Minerva Mills case

3) Kesavananda Bharati case 4) Shankari Prasad case

HERTE IASTUT TRRY AT GHURIET AT : FERTE 10T HRE — HRRI IISTHRUT SA1fOT 9T / 2%
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I softemlt YT FRUITS TeAd AR S8 @1 e BEft et NS ?

9) 8% I HSAIGORI R) ¥R T HeAIGoRIH
3) 9O T TGO 8) 3¢ T TSGR

When was the word 'Armed Rebellion' added to the Constitution to declare a National Emergency?
1) By 44™ Constitution Amendment Act 2) By 42" Constitution Amendment Act
3) By 40" Constitution Amendment Act 4) By 38" Constitution Amendment Act

QU TN 88 T TEAIGORN AUFRIAIGR T SU0fiedT AeHi TIeielh! PIURTT ARG et 1! ?

9) Hfgcear ot frpRef fararr pucht smofieoft it & THuR AR

Q) 'SRl Sreriddr’ AT Vel ‘HIRT FSIl’ & 2CHANT U 3TTel.

3) IS AR Wiell 3RAelel el T SMUBR g Dhde g AT WRebig SEHAUTT HRURK BN
IROITT 3MMeredr ufiemiia Fefad wxar Aciter, TR TSISIAT HRURKT ST aRUATT 3Nt
aruftemfia e @Rar AuR AR

8) SR T DIV THNEH SfieTofiear aiNule faRie RUMRT 3T JAofieToft 2re] Sauar foriy
FRUIRT TR PIUATE! Aot HoR hefl oR IIFYci Sfiamft AFT Sugret Gisun aRol a9 3.

Which one of the following has not been provided by the 44th Constitutional Amendment Act of

1978 relating to National Emergency ?

1) A proclamation of National Emergency will not be issued by President unless there is a written
recommendation of the Cabinet.

2) The expression 'internal disturbances' has been replaced by 'armed rebellion'.

3) The six fundamental rights under Article 19 can be suspended only when the National Emergency
is declared on grounds of war or external aggression and not on grounds of armed rebellion.

4) The President must issue a proclamation of revocation any time if any House of Parliament

passes a resolution disapproving of the continuance of the proclamation.

vy At TeIgew SR 9%0¢ GR Weflerieh! IV TRYa! PRUIN ST AT ?

a) 3IRIA IR ATRIeh HaT 0T PRI ARG PRUATT AT,

b) AR et Al Thal YAfaaRTS IR UTSAuaaT IR SfRIBR uITd 37Tl

¢) IR SUTETO=AT BRI TS 0 ST Feess 9 3 g4I fietel e MUPR Fafea w=ar
VR g et aRIg PR e,

d) IR ure fawr Fwad! Jlod gefauand .

gt SR :

q) (a), (b) &M () 2) (a), (b) M (d)  3) Fh (c) M (d)  8) Feh (b) MM (c)

Which of the following provisions were made by the 44% Amendment Act of 19787

a) Provided for the creation of the All-India Judicial Service.

b) Empowered the President to send back once, the advice of the Cabinet for reconsideration.

c¢) Provided that the Fundamental Rights guaranteed by Article 20 and Article 21 cannot be
suspended during the National Emergency.

d) Shifted five subjects from the State list to the Concurrent list.

Answer Options :
1) (a), (b) and (¢) 2) (a), (b) and (d) 3) Only (c) and (d) 4) Only (b) and (c)
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GISIBUD] DIVIAT HCHIGORIGR ISR YEITTRTER 3Pl AT T ST ?

q) 8 Ao ) 4t 3) & dl 8) Yo df

Which one of the following amendments to the Constitution of India sought to curb political
defections?

1)42 nd 2)52nd 3) 62 nd 4) 70 th

AT SATOT AN&rfOreh goce AN e el 3RIed 2039 T 90Y T HEIGHRI! PIIEM

R ™= ... P ISH PHe3 3T

q) g ?) AR 3) U 8) oM

The Constitution 105" amendment act, 2021 related to the socially and educationally backward
classes, amends .......... articles of Indian Constitution.

1) two 2) four 3) five 4) three

q0¢ T HEAIGRKIT [AUIeETET Wieflel fatm =i &

31) O BT M AT fAumRIsTed AfgeaTd! Thgdiaier IRdia Sraelt 8.
) ISR faeRIe § AT, 2090 ST HSR et B,

F) Apaa fIeEeR B qaeH der ARl

3) 94 T AP RIS o g e,

RIATDT PIvr faem aRIeR 3MRd 2

9) eh 31, § M0 ) Bth §, P MM S
3) Bh 3T, § 7M1 & g) o, §, & 3§

Consider the following statements about the 108" Constitutional Amendment Bill :

a) It related to reservation of one-third seats in Lok Sabha and State Legislative Assemblies for
women.

b) Rajya Sabha passed the Bill on 9" March, 2010.

¢) Lok Sabha never voted on the bill.

d) It was lapsed after the dissolution of the 15" Lok Sabha

Which of the statements given above are correct?

1)Onlya,bandd 2)Only b, cand d 3)Onlya,bandc 4)a,b,candd

?) AfeHIcHes IR

DA Biepar AT sregaEr Ui eridre:

q) |ar

R) JIFucE Tof SrwRid

3) Agl s feber g € 9N, of SMmell RIS

g) U ay fhar el €2 Ay, Sf ameft aRIe A

The Chairman of the Union Public Service Commission holds office for a period of :
1) six years

2) during the pleasure of the President

3) For six years or till the age of 65 years, whichever is earlier

4) For five years, or till the age of 62 years, whichever is earlier.
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@IFIBYb] )T Blbiar SFINTE Pl et Bl gt ?

9) TN HarTed YN, g O [T Gg AT IRITT TedT QU

2) TG Haepra SIEBIN ST feavisend] drw go)

3) IS AT SIS G BT R TP GF PR,

§) VI SBleBeiar RN PRGN QAN 39U,

Which one of the following is not a statutory function of UPSC?

1) To advise the Government on the methods of recruitment, promotion and control of public
services.

2) To look after the interests and rights of civil servants.

3) To hear appeals from civil servants and redress their grievances.

4) To supervise the functioning of the State Public Service Commissions.

T BIhdT AN el TSt BIv %o qahdl ?

q) I FarE ARSI RBRATIR Q) UG 39 IRATSArAT RIBRATAR
3) S AT 9% ~AH g 8) AR ISTTaT ISAUTS SV greod
Who can remove the Chairman of the State Public Service Commission?

1) The President on the recommendation of the Supreme Court.

2) The Governor on the recommendation of the High Court.

3) The Chief Justice of High Court.

4) The Governor of the concerned state on his own.

AR fafed STRIRTIETed @ietieiieh! PHIur e gehid 3Mg ?

9) &qes G [FaterT STJHIFT STIIT BIIBIRBIH] eI 3, T5g S [HaraT ST ol Grreear
7.

R) g FafaT STRIhIa ¥ 1@l Sl g ar™ ~JRIerRIT ~IRTdieT T 3.

3) I et SR g hae AHFie THE 3Ted.

¥) SR TGN Sedid ged Farad 3Mgeh S 3R fHated geh Jredmed Jave FHir siel a) @

ST ol SgAAM Bdel S

Which one of the following statements about Election Commission of India is false ?

1) Only the Chief Election Commissioner has a security of tensure but not to the other Election
Commissioners.

2) The Cheif Election Commissioner holds the position or status of a judge of the Supreme
Court.

3) The Cheif Election Commissioner is merely first among equals.

4) In case of difference of opinion amongst the Cheif Election Commissioner and other Election
Commissioners, the matter is decided by majority.

3) HEr AU U
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) fafdy feRacTHes wfiear, T, dsa

e TIfee STANTSTE Wieflerie! Hiv g™ R oM ?

q) ot TeAIcTd TR IR e U gre Hifedl SR[eh SfOr urd el SR AT 3o Hifee SR[eh
SSIGE

R) g Hifdll 3Rgeh SAOT HIfRcl 3TRYeh ATl FHUeh TeH=aTredl Aeeraleiial Afcear fhRefieRe
IFUAIGR dhetl ST,

3)d 3Mdel Ug U @y fohar STl o ay YUl glsuid URUT ShRa.

8) T GRIGERIRT UT ST auT Hifeel ST & R Hifeel! 3TRJch FaUT A9V UTsl SRAIIe. U
Hifech SIe USrAT PRI YHUT UTe IuTUel SR Pies UG YRVl o Aehd TR

Which of the following statements regarding Central Information Commission is correct?

1) It is a constitutional body includes one Chief Information Commissioner and not more than
Five Information Commissioners (ICs).

2) The CIC and ICs are appointed by the President on the recommendation of committee headed
by the Home Minister.

3) They hold office for a term of 5 years or until they attain the age of 70 years.

4) They are not eligibl for reappointment, but Information Commissioner is eligible for
appointment as Chief Information Commissioner but cannot hold office for more than a total
of five years including his term as information Commissioner.

YR BRI el RUTRTOT A (Basic Field Formation) S8 Siieal & :

g TgaETet
31) SeTfer I) IR SR
) fefege™ 1) 3SR 37e@T deeH
®b) Tl II1) i
g) DUt IV) e fodhar eidese
gt SR :

<) q o) £

9) I I I v

Q) I\% I I I

3) I I v I
8) I I v I
Match the pairs regarding basic field formations of the Indian Army :
Organisation Headed by
a) Battalion I) Major General
b) Division IT) Major or Captain
¢) Platoon IIT) Colonel
d) Company IV) Captain or Lieutenant

Answer Options :

(a) (b) (o) (d)

I || )i \Y
2) IV )i || I
3) 1 || 1\ )i
4) I I v ||
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(8) FHg-roT dey, 9 R, wads =aeraRn

3% Pg-IToT GaY
YRATA I HERTST a=AT
Hg-I1ST s Way

Pg-IToT YA FIY
Hg-I1sy anfefes day

favria uRye 7 siar -5 aRwe
g -IT ASUTTA SIRINT

s 1o fAfecdt
fafarer s
reafftfdiear gegean a vrIg

% TAH AT

[are =R

S T

UL EDIDI ]

NPT, NPT, U
et fovm, e IS
AT ufehar anfor fApre

RTINS GAfd TR, [T, SiHfad e q |ishad

(4) ST PRIGINY, FAS, ISTHIT T&T Ao IE1E TS

3 She I PRIGTNOT
TETT ATFOT SURTEYC

YR HgFIRIETG!

YRATAT fARI7I$ 9 Agroi@TINIeTsh

% WS

TSIAHT T ATBAHT

IS BIHBTST

AT afver

31 YISThIT Y& 3111 2919 I

TSThIT Y&t 7o S91dg I
s F=rom g ufdsan

90) fRasvbriia HEf
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(€) ST TRBR A0 YR - HrRIGRL, fAfriss
% ISAT HRIBRI G386 — IASAUTS, JTLI9A g HAHSD

(8) PE—IST T, T I, ARG
YR HERTST a=AT
g1 Jefren ey
g -IToT NI Y
P15 e ey
favria aRee 7 siar -5 uRug
g —IToT AUTETET START

q) YRATA WERTST IawAT
WIASUD PIurcaT ot T o e FpRST 3 2

q) g, TH. T. A BIeT Heh Q) TeT MO YRA Wheh

3) g, TH. U. Pl M HRA Feh 8) I, . T, ST ST Siegfosan
Which of the following countries have adopted a federal system of government finance ?
1) USA and Canada only 2) Canada and India only

3) USA, Canada and India only 4) UK, France, Germany and Austria

oG UMidis Do faur ana ag 2

a) G STATfciep FRIETEPAT 3RY dTed g bl YR Yehvigl g APUIR TE.

b) S T HILHR AL TP YRG FesfUar 7 I5Tcles JISThid & U9 HIST g,

gt SR :

9) B (a) ?) e (b) 3) (T (b) g 8) (a) @ (b) S T,
Which of the following statements is correct ?

a) All the observers thought that India will not be able remain as one unified country.

b) In Jammu and Kashrnir the problem of regional aspirations of the people was bigger than that
of India - Pakistan conflict.

Answer Options :
1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)

HERTE ISTUT ARRY AT GEURIET AT : FERTY 10T RS — MR IISTERUT SAT0T 99 / 30



3)

3)

4)

)

1)

For Private Circulation Only

Gleflel TRgel R &,

a) ANRIGR B g ARIGS 37T,

b) IrfErpRi faymrofl & gew 5T SN g AT Fefl 3R,

¢) JIFUC Tch Tl fduzniar Fuige (FYuh) FPRIfUBR aTaRdrd.

d) g IR B ISATT FHAIT IISATd A1, FHET 31T SHed 95t e Tl

R DIVAT TS/ AIGT AT TR TR ISTECH] 8 311 HERISATCHSD FRoUTe Sat! SR 2
) Bh (a) ?) (@), (c) 3T (d)  3) (b), (c) 3T (d) ) el I
Consider the following provisions.

a) The residuary powers have been left with the centre.

b) The powers divided between states and the central government.

c¢) President enjoys absolute veto over state bills.

d) The Union can change the name, area and boundary of a state without its consent.
Answer Options :

1) (a) only 2) (a), (c¢) and (d) 3) (b), (¢c) and (d) 4) All above

FCICICREIISRCEING R

31) YRGS DivdTal Ieard ‘fa9y goif e™Iehad 54’ (Special Category Status State) 3RY affeor
FRUITIIS! PIUATE! TehReT TG ITge-Td FHIIE Tg.

9) T R aRucH Fadem %8 AT S ST SR, 3T ST Ao AT ST e gt
3RS XY TR FoRT et g,

®) Dol URNFTT AT a9 SRIu=T et Yeht Q0% el &1 a9y oIt e a1 g
TR feaT Sl TR AMI il AT aedid g/ (et 0% R,

Rt P R/ gHR/H /a2

i S

9) Beh 3 Q) 3r 3T § 3) Bh & ) TRIGUDT Tepgl AT

Consider the following statements :

a) The Constitution not include any provision for categorisation of any State in India as a Special
Category Status (SCS) State.

b) The National Development Council first accorded SCS in1969 to Jammu and Kashmir, Assam
and Nagaland.

c) The Central Government pays 90% of the funds required in a centrally sponsored scheme to
SCS category States as against 60% in case of normal States

Which of the above statement is/are false ?

Answer Options:

1) Only a 2)aandb 3) Only c 4) None of these above

) He-IT FeTIh Ha

e 3T AT IRPR IS i Heer SRIAUIR T PIurdT/Diorr ?

q) meor WeE Q) wafd st 3) Q= () ST (R)  8) SIBR dred
What is/are a determinant/determinants of financial relations between the central and state
government ?

1) Sources of revenue 2) Heads of expenditure

3) Both the (1) and (2) 4) Distribution of powers
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SR IV e SRR R med 2 amg v fa.

a) g M I IRBRFR TS AT ASHT SBT IRIGHE e, IG5 P Tl

b) ISTFT IS BRIBR) ARIBR ATORUIRISHTT dhg, MRAT 3T 3> 2Tl

¢) I MR YT PIUATE [TRIR TAG B Do 2T,

d) S TRITGIT ~IRENST T T ARDBRIT HHARIHT WIRTT HUTd BRI 3T 35 2Tl
Tt S :

) (a), (¢), (d) Q) (), (b), (d) 3) (@), (b), (¢) 8) (b), (¢), (d)

Which one of the following extraordinary powers, the Indian Constitution provided to the Centre

to deal with and emergency arising out war, external aggression or arm rebellion? Select the

correct answer using the following codes.

a) Centre can modify the provisions relating to the distribution of revenue between Centres and
the states.

b) Centre can give directions to any state as to the manner in which its executive power are to be
exercised.

¢) Parliaments can make laws with respect to any matter enumerated in the State.

d) Centre can order the reduction of salaries of state employees, including the judges High Court.

Answer Options :

1) (a), (c), (d) 2) (a), (b)and (d) ' 3) (a), (b),(c) 4) (b), (), (d)

3) thg—’ST UARTHIT FaY

RTERTSY 31T XI5 oAl RN ellel ART UgaR hRINe SRAVIAT RfchT SScth R, UG R

FRUT fhaT UeTad aRur (TIEss 399) 9 Wieliedh! SIuRd fau™ ghiar g ?

q) 3FTBS 399 Wiell 3Telel HaU § TSyl Hdiiel fch SUete Tal.

R) SFITET 399 WIof SRicicd] TREUINT JARYfTHT HeMS®, dot ST =i 9y FgmessT (LIC ONGC)
IRET dUTHD HeRIdlel PHART Ui AT,

3) ITIES 399 AL TRAQ! AT haw TR (HRF) AR HHAIHE AN 3Ted, SRR (Temporary)
HHAIAT ATEId.

8) RADRI AGprd Ao eis & JSchl AT UG G PRUIG! T FBUT IFTeB] 399 el
TREUTEAT ATHHE Fclemrar FHEer gid ATl

Which one of the following statements about dismissal or removal of persons employed in civil

capacities under the Union or State (Article 311) is not correct?

1) Protection under Article 311 is not available to military personnel.

2) The employees of statutory corporations such as the LIC, ONGC are not entitled to the
protection of Article 311.

3) The provisions of Article 311 are applicable to permanent civil servants only and not to
temporary servants.

4) Suspension of government servant from service is neither dismissal nor removal and is not
within the scope of protection of Article 311.
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y) -3 anfle Hae

I faem /faum aneear

a) T =gt dhg 3T 5w RerEfs faxfia Jeu fFHfead axa @)
b) T =g 5T WReRgH foxitr deer FHfead ao.

¢) FET eIl g 3T 5T WRapRmeflss fahia deyr ffead oo,
d) T TRAR gt waf+e ReRmfe kit dee Ffead oo

tl'ﬂ'hﬂ%?ﬁ:
9) Bk (a) 3T (b) TR Q) Wk (a) 3T (d) SRR
3) Weh (c) 3T (d) TR %) Beh (c) SRS

Identify the correct statement/statements.

a) Federal system of government does not define the financial relations between the central and
state governments.

b) Federal system of government defines the financial relations among the state governments.

c) Federal system of government defines the financial relations between the central and the
state governments.

d) Federal system of government defines the financial relations between the local governments.

Answer Options :

1) Only (a) and (b) are correct 2) Only (a) and (d) are correct

3) Only (c) and (d) are correct 4) only (c) is correct

URANT g e deyld wielles it eio fum I 3 /3med ?

a) TERT AT ac foxiia UTfRiexur 3T,

b) TS IRPRST T Hede AU SR

) TR IMBRUIT T IR,

d) FET IR A g 9 T TRPRIT FHE a1y gl

gt SR

1) (a) R) (a) T ((b) Hh 3) (), (b) MM () Feh ) HIHH &
Which of the statements given below is/are correct regarding Indian federalism ?

a) Independent financial authority in a federal system.

b) Separate /Independent sources of revenue for each government

c) Powers to levy taxes

d) Equal distribution of federal revenue between central and state government

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) only 4) All of the above

) fRAuria uRye T aR-3Ig uRye

fawmfia aRegRIqHd @Tetietieh! PIv f[aum fes Frgla 2

37) fammii gRer a1 TecqeD Tl 3TTed.

§) 9%4g T 5T YR HRISAR e [ s .

%) S Teesh g1 fRnmia aReern sty Sra.

) WRATT Ul AT faHniir uRuer <ermier Tgpur A1 f[IHmre! FHior ehRuara ifed aied.
TR SR :

9) Weh 3F 3T B Q) Weh 3F 3T § 3) Weh 3, B AT S 8) aRicTidh! A
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Which of the following statements about Zonal Councils are nor correct?

a) The Zonal Councils are the constitutional bodies.

b) They are established by the States Reorganisation Act of 1956

¢) Home Minister of the Central Government is the Chairman of Zonal Councils.

d) India is divided into seven zones and provided a Zonal Council for each zone.

Answer Options :

1)Onlyaandc 2)Onlyaandd 3)Only a,candd 4) All of the above

refid faum foarma =i

31) foumfir oReer a1 gerTcqs e 31med.

9) YauuM g 94 YRl aReqRr ereder U Hrf .

&) TP G BT ATdare faHn aRycEr SuTesr Feu PRl RaRl.

§) I fobar a1ftres T uRSGRAT T dohic ALTGRAN Dharg Tersl Jufadl.
R SR :

9) faym™ a1, § 3nfdr & SRR Q) foum &, % anfor 8 SRR

3) fau™ 31, @ 3T & SRR ¥) faum & Infor § SRR

Consider the following statements :

a) Zonal Councils are the constitutional bodies.

b) The Prime Minister acts as the Chairman of all Zonal Councils.

c¢) Each chief Minister acts as the Vice-Chairman of the Zonal Council by rotation.

d) Joint meetings of two or more Zonal Councils are presided over by the Union Home Minister.
Answer Options :

1) Statements a, b and c are correct 2) Statements b, ¢ and d are correct

3) Statements a, ¢ and d are correct 4) Statements ¢ and d are correct

WTefeTidh! DIoTht 919 & TRAT e ATaR-I53 GRYCTHT SIS ailcetel! 38 2

9) AT o A IHde! RIS AT ST6d Alb! HROr IO TR AT oI,

R) PIVATE! SRR FreT UI0T 1R, ey febaT FRIAUT TETE=T DivRaTel dearn o
PRAT ARG PRULL

3) ISTUDT Fafar fhar drerar 3reraT FI-IT g Tl fohar 31fiies Iy T/ SATT AHTSD fRdaee] 31
31 fASITETeIT ST=INUT hRUT AT =i Ul

8) 37T pivrcaTEl fawmeR RipRef iy faeiyd: r oS YRuT Mfor Rars Jm Sfes e
TR AR ATUUITHRAT fmRef o,

Which one of the following matters stands excluded from the jurisdiction of Inter-state council

in India?

1) Enquiring into and advice upon disputer which may have arise between the states.

2) Adjudication of any dispute with respect to the use, distribution or control of water of any
inter-state river.

3) Investigation and discussion of subjects in which some or all of the states or the Union and
one or more states, have common interest.

4) Making recommendation on any such subject and in particular, recommendations for the better
coordination of policy ad action with respect to that subject.
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§) Shg—ToT HAHTEIEE SRR
AR ISTRIEEIRIAR U™ 209l (order of precedence) IISA dTefietdeh! HIUT FIM Fdid
R 3R ?

9) IUAVU™ Q) HISl IFYC

3) gcdh IS ISITA ¥) AaE AR & IR

As per Indian protocol, who among the following ranks highest in a state in the order of precedence?
1) Deputy Prime Minister 2) Former President

3) Governor of the State 4) Chief Justice of the Supreme Court

I fAfec

q) fafde smarT
IR ITTd GRaA] TR PIvfed] JieieR Bt Tt 2

9) ARSI R) UK T 9 AT

3) &flT oTh e ¥) UTCfh 9T

After independence the reorganisation of states was primarily done on the basis of :
1) Cultural independence/values 2) Regional matters and problems
3) Regional political ambitions 4) Regional languages

R GREAT STRINT SAT0T RISy AT Sl Giefiel faum R &2

37) ANl fghT fRRieR 9]Y3 Hedr peft gl

q) SN TREUC) Helt 3Tetl § BXd SMOT STRINTTT oY §F ey Udl.cal. el ST Mfdg agy ua
g .

P) RN AT gl 30 AR, 948 il e el

) IS AR UM 39 3IRT, 9RYE RIST HSR STeT.

3) 5T GRE SIURH 4 STHART, 94w IS S ST

gt SR :

9) 31, § 3701 P )T, P S 3) 9, §aMfr g ¥) 37 T § Heh

Consider the following statements about the States Reorganisation Commission and Act ?

a) The commission was appointed in December, 1953.

b) The commission was headed by Fazal Ali and two members of the commission were H. V.
Kamath and Govind Ballabh Pant.

¢) The commission submitted its report on September 30, 1954.

d) The States Re-organisation Act was enacted on August 31, 1956.

e) The State Re-organisation Act came into effect on January 1, 1957.

Which of the statements given above are correct?

Answer Options :
lI)a,bandc 2)b,candd 3)b,dandc 4)aandd only
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R) TAfHS AT HeAIGHEAT T PRIG

MR ot e fogaeelt def L. e A
q) 3BT 23R A Q) VG B AA 3) ITWT B AB %) IS 3% B

The reference to National Capital Territory of Delhi is found in
1) Article 239 A 2) Article 239 AA 3) Article 239 AB 4) Article 239 B

TATeAUeh! DIV U SRR T8 ?

9) IyuciedT ReRef e 7 5T M Gtae Faesn SIvE AHFET Higel STg. 2rhd ATal.

R) IR 3R faerre AvFQd HiguaTgd! fAfere sremaeliaed Fefeid oy faftmeesr adel iR Jremd
IJRATS! UTISfael aTS.

3) TG Do Y AN DRIGI HOR P Tal 0T T HRo e,

¥) I~y famge™ @h deiel TR (Ad) RIpRuI™ §899 FHaR 9.

Which one of the following statements is not correct?

1) No bills for the formation of new state shall be introduced in either house of Parliament
except on the recommendation of the President.

2) The President before introducing the bill in the Parliament shall refer it to the concerned State
Legislature for its views within a specified time limit.

3) Parliament can form a new state only by a law passed by a special majority.

4) The Parliament is not bound to accept the views (opinion) of the State Legislature.

IR SPHTRIR efraT (st (i)

31) foEIRe ) TAIels 3) HuTeR ) HERTE
qgift S :

9) 3,8, 9, D DS, 8, P, A 3)®, 8,8, A 8)S, 9,3, &
Arrange in appropriate order (formation of the States) :

a) Mizoram b) Nagaland ¢) Meghalaya d) Maharashtra
Answer Options :

1)a,d,b,c 2)d,b,c,a 3)c,d,b,a 4)d,b,a,c

W TG P! U FHT0 e fbar gl A S5 e IF SIS B 318 ?

a) ANSS b) 3y T c) gRamom d) TERTE
g R faer

1) (a),(b),(c) 3T (d) ?) (a),(b),(d) 3o (c)

3) (b),(a),(d) 37N (c) 8) (b),(d),(a) O (c)

What is the correct chronological order in which the following states of the Indian Union were
created or granted full statehood?

a) Nagaland b) Andhra Pradesh c¢) Haryana d) Maharashtra
Select the correct answer using the codes given below :

1) (a),(b),(c) and (d) 2) (a),(b),(d) and (c)

3) (b),(a),(d) and (¢) 4) (b),(d),(a) and (c)
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WIASUDh! PIv e aRg 3mg ?
a) YRATTS TR I ST TRl STY. AT

b) IRATT UfIrs RIS ATBRST ST,
g SR :
q) Hh (a) R) h (b) 3) (a) @ (b) A=A 8) (a) @ (b) Q! AR

Which of the following statements is correct ?

(a) In India the various states can protect and conserve their cultures.

(b) In India regional chauvinistic tendencies are opposed.

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)

AT ~IRITGAT

q) WafE <R

HRAR P ISTESTAT DIURAT TSI RAGITIR Harel ~ARITedThgd Agl AN A ?
q) ITITBT 98 ?) ITTER 9y 3) 3TITBT 98U 8) SFITES 993
According to the provision of which Article of the Constitution can the President of India ask for
advice from the Supreme Court?

1) Article 142 2) Article 145 3) Article 147 4) Article 143

) SH IR

I IRTSATAT WIIBUh! DIvd] H&F AUDBR Bl Az ?

2) T FARIPIRE b siftester sifieRe

c) Tiaerh. rfIHIRar d) AGRTRT STfreprRar

T S :

1) (), (¢), (d) R) (b), (), (d) 3) (a), (b), (©) 8) (a), (b), (d)
What is the main jurisdiction of the High Court?

a) Original Jurisdiction b) Appellate Jurisdiction

¢) Superviosry Jurisdiction d) Advisory jurisdiction

Answer Options :

1) (), (¢), (d) ?) (b), (©), (d) 3) (@), (b), (0) 8) (a), (b), (d)

S RITGITT <RI UL A FRUITETE Wleficlidh! ot ey ghiar g ?
9) T eHchl HRATAT TG &1 ST a¥ =TI Uger 3Riel! aifgor.

R) T AR I= IR gl ay afchel! dhetel! el UTfgs.

3) IWIHAT 7l < Sh ST RIS RIS TR,

8) aRIefiehl Tebg! ATal

Which of the following has been wrongly listed as criteria for appointment as a judge of the
High Court?

1) He must have been held a judicial office in the territory of India for ten years.
2) He must have been an advocate of a High Court for ten years.

3) He must, in the opinion of the President, be a distinguished jurist.

4) None of the above
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3) XY <RI

Riegr =mmelier=a Sedld @eie U R =i

a) fegr =mrmeert FREh! S= ~TrRITedrear ge ~rRiTdlendgT bal S

b) Rieer =g et PRuIrEr AfUPR TEHH 37T,

Rida! o/ [y /v RER ag/T 2

) Bch (a) R) Weh (b) 3) () 3T (b) 8) Sl TE
Consider the following statements regarding District Judges :

a) The appointment of District Judge is made by Chief Justice of High Court.

b) The Chief Minister has the authority to transfer the District Judge.

Which of the statements/s given above is/ are correct?
1) Only (a) 2) Only (b) 3) (a) and (b) 4) Neither (a) nor (b)

¥) SihUTel, AP, IR

A ARSI @letlefih! P faem sRIeR T ?

9) PrRIR HaT AR AT (Legal Services Authorities Act) 98¢ TR BRI
ERIECACS I NCCIRICIA

R) APARCINT hacs Hdcliel U@l Halga =AM hiard FHET &S Aehdl.

3) AHIARAIH el Udd ol &1 Sifdy aRaar 3nfor aF gial eliaR §e-dbRed 3RIdT.

8) ApARIeR fCetelr Mok g feamft =Rrerm Retedm Farsar = 3.

Which one of the following statements about Lok Adalat' is incorrect ?

1) Under the Legal Services Authorities Act of 1987, Lok Adalats have been given a statutory status.
2) Lok Adalats can be constituted of serving or retired judicial persons only.

3) Every award made by the Lok Adalat is final and binding on the parties.

4) The award passed by the Lok Adalat is deemed to be a decreee of a civil court.

HRATNS SIPUIS I BB &l U Wieies proneft Ao iAot aimgd 2

q) ARAT AT IAIh R) Fhrsfean AHUie SR

3) MR ARIERIER SRS 8) AU BIfFIS 3iTh ¥

The office of Lokpal and Lokayukta in India resemble which of the following ?
1) Parliamentary Commissioner of India 2) Ombudsman in Scandinavia

3) Prosecutor General of Russia 4) Council of State in France

) f3eht fAYFT, PRER IS

............ g7 URFRRUges ~TRiep Afspacter’ e fHesd.

a) SicgT faftree 3Mdeht SEEeR UR JTeuard 3RI%hal aIdid.

b) 3Rt (Hung) fftsss SAdMT ARPR g BRY HHPad d SRR 3R,

¢) STl TRBR ARG FeTHT SAfIBRIT FREV PRUATT Hugeft 3Ra.

d) STegl |XIRG U8l AU v IETRATS ~ARATeIIT GOUINT hRaTd.

R SR :

1) (a), (b), (©) R) (b), (©), (d) 3) et T 8) b (b) AT (c)
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The situations that leads to 'Judicial Activism' are :

a) When the legislatures fails to discharge its responsibilities.

b) In case of hung legislature where the government is very weak and instable.

¢) When the government fail to protect the basic rights of he citizens.

d) When the party in power misuses the courts of law for ulterior motives.

Answer Options :

1) (a), (b), (c) 2) (b), (c), (d) 3) All above 4) Only (b) and (c)

€ ) =IRITerRIA ufehar snfor fAehrer

Hale <RI 3R Tgedt 3R I ~IRIITferdl TqTda0 BRf aRuaRIS!, ~aRiTedeaT ufsdr anfor
JNfIPBRIAT SR 30T HRETUT FRUY SMFHD TR, YT ~ARITAITT A2 MR SMfOT HfrSar ...
37) FRUITT RS & AT BISTIRIT ST Hefelelt M.

¥) IRUIT ADITE! FawAd IR ATal.

gt S
q) ‘31 3T '§’ SRl b 3R R) ‘o7 afr ‘g el RIER STed
3) ‘37 g@ M MU T RIS 31 g) '3’ SRR 3MMg MM 'q" b Mg

The Supreme Court has held that for the judiciary to function effectively, the dignity and authority
of the courts must be respected and protected at all costs. But the need to respect the “authority
and dignity of the court” is ........

a) borrowed from a bygone era

b) it has no basis in a democratic system.

Answer Options :

1) Both’a’and b’are wrong 2) Both’a’ and’b’ are correct

3) ‘a’is wrong and’b’is correct 4) ‘a’is correct and’b’is wrong

©) ~IRITeRIN gRfdete, WA=, SHfad ATl 9 Afghadr

HRAT AR GAGADT ... A
9) PRI I PRIBGRT A TecHbd TN PRI AR 3TfIBR.

R) PRICHSRIGR HoR PRUIT 3eied] PRI JeTaul ATeR YT IURRAT RO IR SARIbR.

3) PICYR AT SRIeIedT {a SEd IIFUCH! AT HRUATSReR GrRIaa - dxudral ~rTeri
SIBCAN

8) YT ITYE A 3raT i Jaommed feetedn ol TRIaeh H=uarar <ITeri SfiwR.

In India, Judicial Review implies

1) The power of the judiciary to pronounce upon the constitutionality of laws and executive orders.

2) The power of the judiciary to question the wisdom of teh laws enacted by the legislatures.

3) The power of the judiciary to review all the legislative enactments before they are assented to
by the President.

4) The power of the judiciary to review its own judgements given earlier in similar or different
cases.
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"R GBI I1ed Wieflerid! ivrd fum RisR 7787 2

9) R ITEeH AR A g F9€ guie delel AT,

Q) HRATT IRITeRI G § "PrIem blef fooiedl Ugd! a1 dwigR SaTord 32

3) RIATRIA QAP g Isgae-Taar { 1 RIS FHIAE dhelel BRI AR 8l e gl

8) IR GAfeierTes FHiv Sileled STeei=T UR PRUGRIIS! ARG IS ST GOl HoR &
9eha TR

Which one of the following statements about 'Judicial Review' is not correct?

1) The Constitution of India does not clearly describe the system of Judicial Review.

2) Judicial Review in India is governed by the principle 'procedure established by law'.

3) Judicial Review cannot be applied in respect of laws incorporated in the 9th schedule of the
Constitution.

4) The Parliament cannot pass laws and amendment for overriding the hurdles created by Judicial
Review.

GG CRCRIERCEINC RN

37) foeTwed faftifrmma =ImaTeis qAfd@emrE wRam g,

) S RIS GAfABITETEd PIoTchal TGl T8l JFeN SHRDBT —ARACISdD! TR ~IRHET
A8 TR

Tt S

q) faur ‘o W, ‘9 gH R) faur ‘a1 g, ‘¥ WeR

3) I R 7P 3) A R AR

Consider the following statements :

a) In Britain, no judicial review of legislation is permitted.

b) Judiciary in India is not as supreme as in the United States of America which recognises no
limit on the scope of judicial review.

Answer Options :

1) Statements 'a' is correct, 'b' is false 2) Statements 'a' is false, 'b' is correct

3) Both the statements are false 4) Both the statements are correct

SITE QUM AR S JAfUDBR &FTAT GRIT Hel ST 0T < FIH aToRe ST, JqF He,
JTerd =grnedter fhar SRR aTdieRiel fewuar oid HRUIIS! SaHMET aTWR _d AR, ...
3R GeAIGORI JAUATER faH URIEY SAIQuar FH1s hall 3Tg.

9) rcen Q) ufgedn 3) cgrea ) e

In many countries, contempt jurisdiction is regarded as archaic and exercised sparingly. In the
US, courts no longer use contempt to silence comments on judges or legal matters. ........

Amendment to the US Constitution forbids imposition of contempt sanctions on a newspaper.
1) The Seventh 2) The First 3) The Tenth 4) The fifth
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?)
3)

)
&)

¢)
R)
90)

)

1)

Q)

For Private Circulation Only

(4) FN FrRfERol. Rftries, gat 3ol <aa T

>Z<§’_§ﬁ'q$lﬂ$lﬁuﬁ

IO 1TFOr SURTEOTt

YR HeFIRIATG

YR A5 9 TeTeRaTaRI&is

% W
RTSIRTHT G SANHAHT
TSI BTIPIST
T Affen

3 TSI Y& JATfOT G919 T
RISThIT & ITfOT qa1q e
e J=om g ufesar
Rasuhicial wmfRT

e PRIBIRUI

q) IS o IURTEUH

SR T Shid! IFYc FeU ST (asu[e Hare ~IRIGI JEalds bl o T Sh doR 3o
3MMRT:

q) faftremmer oxara ?) faefiurer Rredrd

3) faeflurer qreaT SHTET WaE ~IRITGT SRad 8) ThRUT URed BRIl ST

If an election to the post of the President of India is set side by the Supreme Court to the orders
made by the incumbent until then :

1) Become invalid

2) Remain valid

3) The Supreme Court decides whether they are valid or otherwise

4) It is decided on case to case basis.

CIGIRERIERCEINC R

37) 3 g (malafide) AT FTURTER AT ICEHH PIGUATA] OIS RSN T2 SRR
HRAT A

9) Y AR acgRH Sl TTPBIIRIT BI &g, e,

%) SIS GORINTS! GCgHH STRI bRl A Tal.

RIGUDT PIUKH fAIUF SRITR 318 ?

q) 37 for § ) g T & 3) P s ¥) 3T, §, 31T &

HERTE IASTUT AR HaT GEURIET AT : TERTE 10T HRE — IR IISTHROT JATOT 6T / 89
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Consider the following statements :

a) The decision of the President to issue an Ordinance can be questioned in a court for being
malafide.

b) An Ordinance like any other legislation can be retrospective.

¢) An ordinance cannot be issued to amend the Constitution.

Which of the above statements are correct?

l1)aandb 2)bandc 3)candd 4)a,bandc

RATSIBADT DIV TP FHaguehia e qi 8q ATl ?

a) BIhIIT I ISTHYH BEEYY A

b) I U9 Faifid e

c) fegt anfr ggert & e weer=an faumw Maifa Jewr

d) 5T e aReea fasass snftr AmfERa Jewr

gt SR

1) (a),(b) R) (b).(c) 3) (d) 8) (a),(c)

Who among the following is not directly participating in the election of President ?
a) The elected member of Lok Sabha and Rajya Sabha

b) The Elected member of Legislative Assemblies of the State.

c¢) The elected member of Legislative Assemblies of the union territories of Delhi and Puducherry.
d) Both elected and nominated members of the state legislative councils.

Answer Option :

1) (a),(b) 2) (b),(¢) 3) (d) 4) (a).(c)

Qe faum e =

a) TFUH DIUCTE! AGATIRY] [T0TD FAChs GRS Teq_ ST

b) IFuHt U fIUID FRPHs JAARMIGH UT3d, AhdTd.

¢) A AAATURYT A8 grgl HoR hedd IRYCT [GUIdle] HoRl emdl BRI

RSB PIordt /<l Y /7 SRR 32/ ?

q) (a) 37T (b) ?) (b) 3fi(c) 3) (a) 3T () 8) aIBUDT el

Consider the following statements :

a) The President may return an ordinary bill for reconsideration of the Parliament.

b) The President may return the money bill for reconsideration of the Parliament.

c) If an ordinary bill is passed again by the Parliament, the President must give his assent
to the bill.

Which of the statement/s given above is/are correct ?
1) (a) and (b) 2) (b) and (¢) 3) (a) and (¢) 4) None of above

TPRIYDRIAT THRIEET ST SaT

31) FRPY FHRIUBR ) Ao A9} 1Y@l TR = QUI, AT d URd 7 urofu.
9) UMD FHRIUDR 1) DRIGHSS IR ATEAT AT SR HId hRo 2ehel.
%) ARGl FBRIUDR 111 PRIGHSS TR Y TgHTeaT SATUR HId B A,

) Uidhe TPRMYBR 1V RIOTHIoT AT SuITaad PIvrital gt =1 aor
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gl ST

i} g P 3
9) I II 1| v
) v 1| II I
3) v 1| I II
) 1 v II I

Match the pairs regarding types of veto :

a) Absolute veto I) neither ractifies nor rejects nor returns the bill.
b) Qualified veto IT) can be overridden by the legislature with an ordinary majority.
c¢) Suspensive veto IIT) can be overridden by the legislature with a higher majority.
d) Pocket veto IV) withholding of assent to the bill
Answer Options :
@ ®d (© @
1) I I i I\%
2) I\% I II I
3) I\% i I II
4) I v Il I

YR JIRTEIAET GTetIeTichT pIvret e gehrar 38 ?
37) IT UGRNATS! 3Ricied (Hatae HeaMed TRIeedl qial AHNgredl Faffud Aewdiar JHmaer SRl
9) o AU SFURRITHE HeT AfITE SR PHles el gaddl PIAGLAIS! APl IeraR g

NERINS
&) I7 YT FASUHRTG! I 20 HAGR g IR<Ide M1 20 AAGR g STIHIGH SRV STaLh 3T,
Tt SR
9) a1 )T ) @ 8) TR Toel el

Which one of the following statements about the Vice-President of Inida is incorrect ?

a) The electoral college for election to this office consists of the elected members of both the
Houses of Parliament.

b) He can hold the office of the President for a period not exceeding six months in the absence
of the President.

c¢) For election to this office a candidate's nomination paper must be subscribed by at least 20
electors as proposers and 20 electors as seconders.

Answer Options :
I)a 2)b 3)c 4) None of the above

grefid e foar &

37) o<1 5T HTid SR Fag AFeeaT qgl TR Fwh Johid cgrdl 3reft axqg e,
9) 9R&9 =T 99 T TSAIGOKI ST el Faghl Ugd gaefudrd e,

&) IWFYTET 9 Sal AR Phae Maid ARl Fas Heomehgd dhat ST,

) fag #e% (Electoral College) 37907 &It AT PRV SIRTFITEAT HISUhIeT STegH <dm A T,
g IR :

q) faU™ 3f, § /IR, &, S TP ) UM 9, &, 3 R, 1 ID

3) UM of, 9, § |, & D g) U™ 9, & RN, 31, $IP
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Consider the following statements :

a) The original Constitution provided that the Vice-President would be elected by the two Houses
of Parliament assembled at a joint meeting.

b) The 11th Constitutional Amendment, 1961 changed the procedure of election of the Vice-
President.

c) The Vice-President is elected by the members of an electoral college consisting of the elected
members only of both the Houses.

d) The election of the Vice-President cannot be challenged on the grounds that the electoral
college was incomplete.

Answer Optins :

1) Statements a, b are correct, ¢ and d are false

2) Statements b, ¢, d are correct and a is false

3) Statements a, b, d are correct and c is false

4) Statements b, ¢ are correct, a and d are false

) YauE 3ol HAvss

CIGICREPIERCEIRR
31) foemed dauu g A Ted (House of Commons) ISR 3e TIfael.

) HRAT PIUIATE THNERT AN T xhid] GIUe™ Fgud THUh aIg_ 2.
TRIBUDT DIV /pIoTe faeT /Ao aRIeR 31 ?
9) thad 3T ) Had § 3) Qe 3r Imfor § ¥) Qal AR

Consider the following statements:

a) In Britain the Prime Minister should definitely be a member of the House of Commons.

b) In India a person who is not a member of either House of Parliament can be appointed as
Prime Minister.

Which of the above statements is/are correct?

1) Only a 2)Only b 3)Bothaandb 4) Neither anorb

qfHes Afudreriedr (Cabinet Secretariant) SieHid @iefleiid! Pivrd) e d<r amed ?
a) d 3.9, 940 ALY TRATUYT PRUITT 3ATet.

b) T JAYUIAT ANCIFRETE M PR,

c) O 91 Feed (Line agency) 3.

d) T &g TRERAW &I FHID U PRI B,

i SR :

q) (a) 3T (b) ?) (a), (b) 3T (c)  3) (b) MM (d) 8) (a), (c) 31T (d)
Which of the following statements are true about the Cabinet Secretariat?

a) It came into existence in 1950

b) It operates under the direction of Prime Minister.

c) Itis a Line agency.

d) It functions as the Chief coordinating agency in the Central Government.

Answer Options :
1) (a) and (b) 2) (a), (b) and (c¢) 3) (b) and (d) 4) (a), (c) and (d)
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Wreflerdd! Hivrd /dt fAum /= gehia sme/a ?

31) ApANT AT BTG PIVIT HRUMER MR 37T, & TIT PRI AN

¥) AT IfIGRT oRTT SRIT PR DUITIEENT Tgat 8 ellpaudr M 9%¢ A&y Fiftided! 3re.

%) AR ORG Thal SRIeT HIARR I GRIS PRUIN Hokl TRy gl feaiean a1 =<

AT T TTfRT.

g) Scoll AYd IRBRAT FQeAT qralal AHRERAT UIfcean ot TR 3R,

i SR :

9) Wh 31 ) Bh b 3) g offr & Q) 3F AT §

Which one of the following statements is/are not correct ?

a) In Lok Sabha, a non-confidence motion has to set out the grounds on which it is based.

b) In the case of a non-confidence motion in Lok Sabha procedures of admissibility have been
laid down in Rule 198 of Lok Sabha.

¢) A motion of non-confidence once admitted has to be taken up within up within ten days of the
leave being granted.

d) In Italy, the government requires the support of both houses of Parliament.

Answer Options :

1)Only a 2) Only ¢ 3)bandc 4)aandd

3) YRARET HaFIREre!

LGB DIV FIG AHRIGET ‘i, dwiet 9 Anieele’ Fau Slidde STk ?

9) geFarRIETe! (A.G.) Q) FrRiF® T TerdERe® (C.A.G.)

3) AgMIfa (Secretary General) ®) IS BB Hat (P.A.M.)

Who among the following is known as the 'friend, philosopher and guide' of the members of
Parliament?

1) Attorney General 2) Comptroller and Auditor General

3) Secretary General 4) Parliamentary Affairs Minister

8) WRETHT 25 3 HEroRaTIRI&Td
ARATET RS M7 Feledl RighRcHd Wieles UM fRR &1
a) T FIgEh! WRATET APl ihg bl S,
b) T I 3TN SR AaTeKdT FAChgd MIdd dhos ST,
¢) T UdUUTIhgT heglel UG Heh hes SIS 2Tl
d) T TG Bl ol AT Anieeied, o T deaet Feud PRI v,
RIeU! PIoRT /< U/ RIR 3me/d ?
q) (a),(b) T (c) ?) (a),(b) 3T (d)  3) (b),(c) &M (c) ) (a),(c) 3O (d)
Consider the following statements regarding with Comptroller and Auditor General of India:
a) He is appointed by the President of India.
b) His salary and other service conditions are determined by Parliament.
c) He can be removed by Prime Minister any time.
d) He acts as a guide, friend and philosopher of the Public Accounts Committee of the Parliament.
Which of the statements/s given above is/ are correct?

1) (a), (b) and (¢) 2) (a), (b) and (d) 3) (b), (¢) and (¢) 4) (a), (¢) and (d)
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NRATAT FREd g AeleRaT uRermETed Wieflel faeum foarmd e -

a) O YU Toff SRR Suedr ugeR g

b) 4 Hale <RI =IRefegdad da- gdrd.

¢) I YSHEUN IRUATYET HRATT Sar™ ~ARIeRTT J& AR SUfRdid eqer gdrd.

d) Weh HRATEAT TR IR heied] bR T U Y G o eI,

RIeTDh! piort e /faum aReR 3med ?

9) Th (a) ?) % (b) 3) h (a) 3T () 8) Fh (b) MU (d)

Consider the following statements about the Comptroller and Auditor General of India:

a) He holds office during the pleasure of the President.

b) He draws the same salary as a Supreme Court Judge.

¢) Before entering upon his office, he swears an oath or affirmation before the Chief Justice of
India.

d) He may be removed by the President only after an enquiry by the Supreme Court of India.

Which of the statements given above is/are correct?
1) Only (a) 2) Only (b) 3) Only (a) and (¢) 4) Only (b) and (d)

g
) RISIAUT T ABAT
Wlefieldeh! DIV ITadld XTI ATGTHTT SRIExT A8l ?

9) gUcrE! Fasuen R) HaT™ ~IRITCRITAT AT YGaRs X hRUl.
3) anufteofie awor ) TAIDT Tepgl AT

In which of the following cases is the Rajya Sabha not equal to the Lok Sabha ?

1) The election of the President 2) Removal of the Judges of the Supreme Court
3) Proclamation of Emergency 4) None of the above

ATl P e /e aReR amRd ?

37) AHIUT Feg TR eh ISTTUTT AMMCIT AYRIC IRIAT.

q) ISTANR 3! ST AT SR G FHRIG HUATE HeARHD RS 3T,

®) Tl ARG AYSHT el Halt g9a1d ITETEd ISTEcTT Pivdal g8+ ATgl.

) THMGRIT FHRIE IFUH AT IURTFUH AN Sl (AU AdGH &% Thard.

i SR :

q) 37 ffor § Q) H T § 3) Bh § 8) Bh B

Wich of the following statements is/are correct?

a) Only the Rajya Sabha and not Lok Sabha can have nominated members.

b) There is a constitutional provision for nominating two members belonging to the Anglo-Indian
Community to the Rajya Sabha.

c¢) There is no constitutional bar for nominated members to be appointed as Union Ministers.

d) Anominated member can vote both in Presidential and Vice-Presidential elections.

Answer Options :

I)aandb 2)candd 3) Only b 4) Only ¢

HERTE IASTUT ARRY AaT GEURIET AT : TERTE 10T RS — IR IISTHROT 0T 6T / 8%,
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Tl IO AT HHPad R HROT 18l 2
q) ST TRUT G HAT ATbAHUEN PHI 37Te.

R) AT AL eTe Al < FHI ST

3) HHlHEs § Beh AN SEESR 3RA

8) RIeTIh Thgl AT

Which of the following is not a reason of weaker position of the Rajya Sabha ?
1) The total membership of the Rajya Sabha is less than the Lok Sabha

2) Joint session is presided by the Speaker of the Lok Sabha

3) The Council of Ministers is responsible only to the Lok Sabha

4) None of the above

CIGICRCIIEIRIE

2) SPAHAL TIRT T ASe, IR ISTAH Tofed [T8TDh, I aiid e W 8.

b) e Gl e Hadie TR Rdes @ 2.

RIGUhT pIor /ot e /= aRIeR 3 /T 2

) Bh (a) R) (a) TN 3O (b) T T 3) (a) R (b) =N 8) ®h (b)

Consider the following statements :

a) Bill pending in the Rajya Sabha which has not been passed by the Lok Sabha shall lapse on
dissolution of the Lok Sabha.

b) A Bill pending in Parliament shall lapse by reason of Prorogation of the houses.

Which of the statements/s given above is/are correct?
1) Only (a) 2) Neither (a) nor (b) 3) Both (a) and (b) 4) Only (b)

CIICEERIERCEINC R
37) SR UEIS! Schl S Qlva! THRERITGH g 3TTelt 3Rtet, TR o Sloredn THRIEIT JaT < Sfesd
d 90 fea=r=aT 31 Hesfaerd UTfest, TN Qlglel SIRM Reh BT
¥) SR QEIGH hl TETRI AHERNNC G SIRIeR Fagd 3ffeft, @) oM U Simet watg e difgst
AT Seeral SR Reh .
%) SR Ul FHRERT G 3ciel] Gl FHRERICIee fFage Sfell, TR <Rl ufdedn FHNEIlel
SR Reh .
RITIdT Do faem/fau™ aRIsR 1l ?
9) Sheh 37 30T § ) Teh § MU & 3) Weh 31 ¥) Beh B
Consider the following statements :
a) If a person is elected to both the Houses of Parliament, he must intimate within 10 days in
which House he desires to serve, otherwise both seats become vacant.
b) If a person is elected to two seats in a House he should exercise his option for one, otherwise
both seats become vacant.
c) If a sitting member of one house is also elected to the other House, his seat in the first House
becomes vacant.

Which of the above statements is / are rot correct?
1) Only aand b 2)Onlybandc 3)Only a 4) Only ¢
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BIPANT A& AU Woles U™ R =

a) RTFOCE Hofl SRIRIT T AU UGTR Mg AT,

b) T FEgides! I AHNER AGRI 3R JUTHRD e,

¢) I T Seal AHNRTAT Hgwh MU STEeReI quadrd.

RIeU! PIoRT /< U/ RIR ame/d ?

1) ®h (a) ?) (a) 37T (b) 3) h (c) 8) (b) 37T (c)
Consider the following statements regarding with speaker of lok Sabha :
a) He hold office during the pleasure of the President.

b) He need not be a member of the House at the time of his election.
c) He Presides over a joint sitting of the two houses of Parliament.

d) He can removed from the post by impeachment.

Which of the statements/s given above is/ are correct?
1) Only (a) 2) (a) and (b) 3) Only (¢) 4) (b) and (¢)

AP AT SR @refler o fammrd &,

a) /TR Ia STf sl WRaraT AR Feffar JRa det ST

b) </ foe FEE 7 foqmoft ey #q <ar a9 e,

¢) TR/ fiell AYRIET SR &7 HAGH RO HERATe] g IR heted] SRIATGRI Jaeake X
AT A,

d) I /foRd T SU-TagUTIET ok 3T

ENERERIICCARCIURIRENE IR e

1) (a), (b), (¢) R) (b), (), (d) 3) (a) 3T (b) 8) it Fd

Consider the following statements regarding the position of the Speaker of Lok Sabha.

a) His/her salary and allowances are charged on the Consolidated Fund of India.

b) He/she has no vote except in case of a tie.

c) He/she can be removed by a resolution passed by a majority of the members present and
voting in the house.

d) He/she has a higher rank than Deputy Prime Minister

Which of the above statements are correct?
1) (a), (b), (c) 2) (b), (¢), (d) 3) (a) and (b) 4) All above

&) TAGHT BB
DIV AT ?
9) T IeTe Q) ITHT JuTETe
3) BIHAHd Fald S TIRIG 8) MEUchicbgd AT THRIG

Who presides over a joint sitting of the Parliament if neither the Speaker nor the Deputy Speaker
of Lok Sabha is available?

1) Chairman of Rajya Sabha 2) Deputy Chairman of Rajya Sabha

3) Seniormost member of Lok Sabha 4) Amember nominated by the President
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SEECICRRCIC CRERISRECINC R

37) el T FATUT TGS T 9]48 HEd IRUATT 3T,

q) pead Tt FoT ASRIGR fosRad U AR 90.00 T BT BRI,

&) Tl GRS AHRAG ThMaT STRA el a1 <o aeha e,

NI Pl e gehra A ?

9) af AT 3) B 8) IO ATl

Consider the following statements regarding the Parliament :

a) The provision for the Calling Attention Notice was first made in the year 1954.

b) Notices of Calling Attention have to be given by members in writing by 10.00 am.
¢) Amember can give not more than on Calling Attention Notice for any one sitting.
Which of the above statements is not correct?

1)a 2)b 3)c 4) None of the above
Tl Do faem SRR 31 ?

37) FHAE PR AT . ¥) HAE PR HH PRe b TTal

®) TS PR IE P . ) TG IR a6, o gl

3) WS AN FH B A,

gift SR :

9) 31, P 3T 3 )T, P IAMS 3) P, S MU S ¥) & I S

Which of the following statements are correct?

a) Parliament can increase a tax. b) Parliament cannot reduce a tax.

¢) Parliament can abolish a tax. d) Parliament cannot increase a tax.

e) Parliament can reduce a tax.
Answer Options :
l1)a,cande 2)b,candd 3)c,dande 4)candd

CIICACIIERCEING R

a) AP FHERAT T (panel of Chairpersons) A€ AGAAT MU HSHITHET .

b) SiegT AlHAITIT L& AT IUTEENd Ue Reh SRTeT degl AlpdHed] FERAT T AR gl
STETEIST 3R LA,

C) 3TETE, IJuTETE AT AlHAHAT FHETAT TeTkilel chl AT SRR JIFUAGR - deted
ACHITGR 3Tegefd e UR reet! ST,

RIeTDh! DU e /faum sRIeR 3118/ 31med ?

9) Fh (a) R) Fh (b) 3) (a) AT (c) 8) Rieicht Tonel el

Consider the following statements :

a) A panel of Chairpersons is elected by the Lok Sabha from amongst its members.

b) A member of the panel of Chairpersons can preside over the Lok Sabha when the office of the
Speaker or the Deputy Speaker is vacant.

¢) In absence of the Speaker, the Deputy Speaker and member of the panel of Chairpersons, the
Speaker’s duties are to be performed by a member appointed by the President.

Which of the statements given above is/are correct?
1) Only (a) 2) Only (b) 3) (a) and (¢) 4) None of the above
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AT fA8Td FaUeH &b ... e Higel S

) ISTAHT R) BT

3) I DL TIRTE g) ITIehT ATE
Ordinary Bilis can originate only in ......

1) The Rajya Sabha 2) The Lok Sabha

3) Any House of the Parliament 4) None of the above

Wl At YRfagas g &I el g PIor SRfAer ?

9) gt Q) TIuU 3) SWRIFYC ) AlPATd FHI
Who decides whether a Bill is a Money Bill or not ?

1) The President 2) The Prime Minister

3) The Vice President 4) The Speaker of the Lok Sabha

YHOTS TRMd: BT ... TG AR HRalld.

9) BT ) ISIAHT 3) faum uReg ¥) eRIcAdeh! Tepg! ATl
Money Bill originates only in the

1) Lok Sabha 2) Rajya Sabha 3) Vidhan Parishad 4) None of the above

ETefictidh! DI U /7 I 3rg/d ?

a) ITECTI IS99 7 31 fG8IHedT (money bills) TR FSHIT 3TTR.

b) 3B 990(3) Tielt Svflag Sielel f7 f[A97e (financial bills) g Ba% FAPAHALRIT Higel ST,
NEint

¢) ITEBE—999(9) el 2fieg Selel o g (financial bills) ISTFHT SR AT ST Do
SERISIE]

Tt S

) ®h (a) R) (b) 3T () 3) TIUDT el TEl - 8) b (c)

Which of the following statements is/are correct?

a) Article-111 of the constitution deals with the definition of money bills.

b) A bill categorised as financial bill under Article-117(3) can be introduced only in the Lok
Sabha.

c) Abill categorised as financial bill under Article-117(1) cannot be rejected or amended by the

Rijya Sabha.
Answer Options :
1) Only (a) 2) (b) and (¢) 3) None of the above  4) Only (c)

V) RIS AT

Tl IeTidT DU AT FAqedl Qraal AHRErT Uffefiar Fomaer arar?
a) SF[IRIT S g SRR STl ateaT oS! A b) AfZeT Adetiprr A
) PHBNT AR AT d) 3igreT |Afeet
R SR :

q) (a), (b) M (d) ) Fh (b) MM (c)  3) (c), (d) MU (e) &) Feh (a) AN (b)
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Which of the following committees contains representatives of both the Houses of the Parliament?
a) Committee on Welfare of Scheduled Castes and Scheduled Tribes

b) Committee on Empowerment of Women

¢) Business Advisory Committee

d) Committee on Privileges

e) Estimates Committee

Answer Options:

1) (a), (b) and (d) 2) Only (b) and (¢) 3) (¢), (d) and (e) 4) Only (a) and (b)

" RAMRIPR A’ FAuid ETefieidd! HIv fae aReR AR ?

9) AHFIT FHRIH-222 3T TSI FRH-9¢w g fomTfereRrdsedt amed.

) AHIIT 94 TS 3RTeled! IR Aficft & Fuch AR era.

3) ISTANT ST g9 fAANIRieR At T RIdTd SaT Afdia 94 AR SR,
8) AU Thg! TR

Which one of the following statements about Privilege Committee' is not correct?

1) Rule No. 222 of the Lok Sabha and 187 of the Rajya Sabha governs privilege.

2) In the Lok Sabha, the Speaker nominates a Committee of Privileges consisting of 15 members.

3) In the Rajya Sabha, the Deputy Chairperson heads the Committee of Privileges, that consists
of 15 members.

4) None of the above.
ST Y&l 3AIfr <91 7S
¢) MSThI Y& 31T <919 I
HRATT HIaiaTG) Hrg-e v&l (1.3, ~T). < SO dhegl el 2
9) IRY4& ?) 9R¢E 3) 9%%% 8) 9%&3
When was the Communist Party of India Marxist (CPI-M) formed ?
1) 1956 2) 1986 3) 1946 4) 1964

1. R aridEeR ST AFTIRAG JEst g vl fRieh gar d g ?

9) BT 3MESIR — FHSMEG UISt, THTHIG G&sit — AR S

R) Sl ISR - ISYA PRT hexeM, ARG Jeaoll — WRA ST 9t

3) Sl 3SR — T HoR U8, MRS gt — fag AgraT

Q) eRIeThl ATEY

Dr. Bhimrao Ambedkar and Shyamprasad Mukherjee were leaders of which opposition parties?
1) Dr. Ambedkar - Socialist Party, Shyamprasad Mukherjee - Bharatiya Jansangh

2) Dr. Ambedkar - Scheduled Caste Federation, Shyamprasad Mukherjee - Bharatiya Janat Party

3) Dr. Ambedkar - Independent Labour Party, Shyamprasad Mukherjee - Hindu Mahasabha
4) None of the above
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WIS AT DIUAT ISR ARAT FaSUh TR oy fosses ey quf aRumRT wrcfers ger
7Ig1 ?
9) IRUTAG U Q) gRamm 3) B Q) ITOTERA
Which among the following does not have a regional party according to the rules of recognition

prescribed by the Election Commission of India?
1) Arunchal Pradesh ~ 2) Haryana 3) Tripura 4) Rajasthan

HATURUY Uepuefidy qereardl ROl hiufdl 37gd ?

) AU RAal ) oSl o @) AAG AGAC §) ADARIT ITJA
qift S :

9) %eh o, 9, B 9) Beh T, ¥, 3) Bh 3, B, © Q) Beh §, B, B
What are the reasons of one party dominance ?

a) Constitutional Provisions b) Military Revolt

¢) Communist Regime d) Failure of Democracy

Answer Options :

1)Onlya, b, c 2)Onlya,b,d 3)Onlya,c,d 4)Only b, c,d

37) AUMIGR WRail UIH Tehal ST TeT SRIUIR <27 < 3TIOr e 3MTedd.

) oTSa] HRUNTAT SMUR U U&7 SRTUTR <91 S 3mfor sRfcam amed.

®) ADIATE! IRV U ISTehid Yafia aoiva SAUIR 22T YR SMfOT <faror 3Mfthept 3mmed.

Tt S :

9) %h 3, § Q) Beh 3T, B 3) Bxh §, B ¥) R Fd

Select the correct statement / statements :

a) Constitution permitted single political party countries are China and Cuba.

b) On the basis of military reasons, the one party states are Egypt and Eritrea.

¢) Under democratic conditions, single dominated political party countries are India and South
Africa.

Answer Options :
1)Onlya,b 2)Only a, c 3)Only b, c 4) All of the above

guiverdT SidMaR < 3Mfthehd Mfthep Ml BIURTST o govd UTH SITel, gl AFdd] YRdTdlel

.......... a1 gemeft gt
9) P (3M) Q) B (3M)
3) BN (3R) ¥) YR JIE Gapret

Which political party is related to the above passage?

The dominance that the African National Congress has enjoyed in South Africa after the end of
apartheid is similar to ............ party in India.

1) Congress (I) 2) Congress (O)

3) Congress (R) 4) Indian National Congress
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PIRT TTIT JIRATT PO PO AT ?

31) T TBARBIT IRAGR §) FRTHAYR TR

%) I Aafed ua ) wifdRt Ag

3) Y1 anfor A

qift SR :

9) Bh A, 9, B ()P P, S, 3 3) Bh A, &, $ 8) Bh ¥, 8, 3
What are the reasons for the dominance of Congress Party?

a) As inheritor of national movement b) All inclusive nature

c) Excellent organised party d) Revolutionary Leadership

e) Money and Media
Answer Options :
1)Onlya, b, c 2)Onlyc,d, e 3)Onlya,c,e 4)Onlyb,d, e

R) fasu J=om g ufthan

90) Fgsuhidier HAf

9T PR AU SR ?

31) 2098 T HRATAT AHHHT FISUEhIciel AIGHTE CehdRl Hald I FeUrSl JIdesur €€ % B,
9) 1 gdifan \aid AleT el 98¢y Hefie gla, al Bl AR 48%

Tt S

q) Pbaes 3 R) Pae q 3) 3 a9 gl ¥) qFel e
Which one the following statements is incorrect ?

a) The perecentage turnout in the Lok Sabha elections of India in 2014 was the highest at about
66%.

b) The previous best was recorded in 1984 at about 54%.

Answer Options :

1) Only a 2) Only b 3)Bothaandb 4) Neither anor b

(&) =T ARBR AT TR

% ST PRIGRI G856 - ISIUTS, T&IT3t T HfAHss
RISIUTS — YfAPT, AfUBR 9 B

A1 g AfAHE® - YfAd!, AR g Hrf

ST HETfeaThT

IS AfEre™

3 oA fafises
ey - iR, wrf T yfae
furaReg - sfeR, & 7 yfasr

farefvses e mfor faeh Wit

faeiiss wfac
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RIS BRIGR! T8 — SIS, =T 9 HHs®

q) YIS — Y1, AfRIBR g B

dTeflel faum foaRd & -
37) TG AT ST Fasueh HieHaniieR et 3reft aRag e,
) ISgUIETT FRIAIEET ARAN SHNGdT Ugd AThRe hrifed Ugd ThRA.

%) ¥R T HCAGORIR HHSHT Tl PR qUTPRD PRV ATl A3, Wy M TRg
TRITTRIS Nt FROITT 3MTelel! ATl

RieTIdH! PO U™ sRER 3MRd ?

q) 37 ffor § ) g 37T & 3) 31 3Mfor & ¥) o, § T &

Consider the following statements :

a) The Draft Constitution provided for the direct election of the Governor on the basis of adult
suffrage.

b) About the appointment of Governor, India rejected the American system and accepted the
Canadian system.

c) After the 42™ Amendment, ministerial advice has been made binding on the President, but no
such provision has been made with respect to the Governor.

Which of the above statements are correct?

I)aandb 2)bandc 3)aandc 4)a,bandc

Wlefler UMt o faum /3 TRAT IsTged aRe T FHIAE deletl 3R /T 2

37) IrATE RISgUTel FeU Figeh BIVTRT gehl & WIRA |eciiel 3R q=dT AT Rfgardl arfett arfas.

) <areAT YRS SfiseaTdl WHT SUARIIC! [aiE ~TATerITdlel [hHT Teh =ATTeler g1 JEei /el

i,

F) T Ahoid] Afidiar reger g foRiefy vem eRfetr s,

gt SR :

9) Geh 3 ) Beh § 3) AN Upal ARl B) 3 IMfUr §

Which of the following statements is/are included as provision of the Indian Constitution ?

a) The person to be appointed as Governor of a State should be a domicile of some other State of
the Indian Union.

b) there should be at least one Muslim judge in the Supreme Court so as to ensure its secular
character.

c¢) The Chairman of the Public Accounts Committee of the Parliament should belong to a party in
the opposition.

Answer Options :
1) Only a 2) Only b 3) None of the above 4)aandb

et o e e 3.

9) g <Iehl, Traacd! Qi fohar 3ftre ITel I5guTel U F1-geh Rl A g,

Q) ISIYTAT AT YSTaRo- pIQUITeHTd R Iogeend fafdre areft ufdhan |ifideteft Amgt.
3) TS BT AT gl AURIET Ul G 3ROl JMaedd 3.

8) AT foemdioean Heddrdr fFRIh! JadTel vl
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Which of the following statements is correct?

1) The same person cannot be appointed as Governor for two or more States at the same time.

2) No procedure has been laid down in the Constitution of India for the removal of a Governor
form his post.

3) The Governor should be a member of either House of the Parliament.

4) The Governor appoints the Chancellors of the Universities in the State.

Weflel faemithT ror faer sReR e 2

9) BT 00 Y AT (eI IFUHT o1 IRGT 39 erepdra.

Q)WWWW&WWW@WW%@T%@%&W

3) SR d 4t ISTfAfHesH §rg GOwiTg JAddl Gov! 1R1aT HoR o Jral T s AIGR ek
IRT AR QU JIFUCAIER SUPRED A

8) AT IFIHT fRaRTe IRGT Saeied fauRienrT e foct dremaefme ol emer amemea
RISIEC DI Pleiel bTdelel ATal.

Which one of the following statements is not correct?

1) Under Article 200, the Governor may reserve the bill for the consideration of the President

2) President may direct the Governor to return the bill for the reconsideration of the State
Legislature.

3) If the bill is passed again by the State legislature with or without amendments and presented
again to the President for his assent, the President is bound to give his assent to the bill.

4) The constitution has not prescribed any time limit within which the President has to take decision
with regard to a bill reserved by Governor for his consideration.

Y fAftriso™ |9 dhetel A8 IoadTer Igudrea el IRgd o b, Ty

37) faeRIpTeT AT ST STaT HIICT IRGT O b,

) v faRmeaes THfeaRe d f[8d% wRd ureq b

&) P XA Seied! [AogamER 5 fiftmesm fF afe=ira gAfdar detra aifest omfd SR gt

d 9T ASR dhel R PR T FHAT QU1 ST HRD 3.
g) AR WRd 3Melel e SR 5T fafmes™ gmaT ToR dhel TR IPCE ORI Jel Afe=are
EICICRIGAE RN CIREI TN

il S :

q) 3F 31T 4 Q) 3, § 31T & 3) 3, g e s Q) 3T, P M S

In the case of a bill passed by the State Legislature, Governor can reserve it for the consideration

of the President.

a) The President may declare or withhold his asssent to the bill.

b) The President may return the bill for reconsideration to the State Legislature.

c) State Legislature must reconsider the bill within three months and if passed again it is obligatory
upon the President to give his assent.

d) In case of reconsidered bill which is passed again by State Legislature, President shall declare
his assent within a period of six months.

Which of the statements given above are correct?

Answer Options :

I)aandb 2)a,bandc 3)a,bandd 4)a,candd
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R) FETHAt a AiFHEs - YfAd!, AfHR g Hrf

QIR IITAT PRI eadl U el SIR:
a) YT fhar faum aRecear & JelaieT A=l =T o1d ha.

b) IIUTSTAT T ST TeAHD ARDPR IR GRIGS! 3TTE.

c) faurm JH fdeeary ova HoR Pl

d) T PRICHSIIAT el AHREMT AL SR HoR hesl.

T S :

1) (), (b) ?) (@), (b), (d) 3) (b), (©) 8) (a), (d)

The Chief Minister of a state can be removed if :

a) a resoultion is passed by 2/3rd members of the Legislative Council or the Rajya Sabha.

b) in the opinion of the Governor, there is a breakdown of the constitutional machinery in the
state

¢) a no - confidence motion is passed by the Legislative Assembly

d) a no - confidence motion is passed by both the houses of State Legislature

Answer Options :

1) (a), (b) 2) (a), (b), (d) 3) (b), () 4) (), (d)

3RfdE porlaTs, g T qeama g 3 3MeH! urc! 91ed Yeiss GF faum e

a) I . A, . PHR Al fdermeff aed.

b) AT UEH fCgiear Jacard sieed aguhia o Udhl % faerol /Ry v ol
i SN :

9) HaH (a) SRIER ) Ha (b) TR

3) (a) 9 (b) 2! faUM R 8) (a) 7 (b) qrel faum I
Consider the following two statements about Arvind Kejriwal, the new chief Minister of Delhi
and the leader of Aam Aadmi Party :

a) He 1s an alumni of IIT Kanpur.

b) In the recent elections held in Delhi his party won 29 of the 70 seats.

Answer Options :

1) Only (a) is right 2) Only (b) is right

3) Both (a) and (b) are right 4) Neither (a) nor (b) is right

3) TSI HETfSreRh

¥) A MferErery
ST YD BATGRAT LI AU PI0T T ?
q) IS ?) It
3) ST RGATE & ~IrRTeter Q) IR =B RN
Who appoints the Chairman of the State Administrative Tribunal?
1) Governor 2) President
3) Chief Justice of High Court 4) National Judicial Commission
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TR fAefivss

4) RYFRI - SR, B T T
TERTY fum oReSHT ... 7ed Yo quf ¥ guf e,

1) a’%0 ?) Q090 3) a%¢u ) 2000
Maharashtra Legislative Council completed its 50 years of existence in ..........
1) 1990 2) 2010 3) 1987 4) 2000
ATefler e faamid & -

37) afifeen Ry fGu aReg FHfor FRugEEd o[ 7SR Sl 3.

§) T Ui g1 U akee eTme.

&) PR M1 oI He e aReg Ffor ervaRigeicr TRdTa oAt Tafad M.

) e uRyea 9/92 AR 3 Aicuiiga ygdleRiTg Magel S,

RieTdeh! P AU SRR 3Ted ?

9) 31, § 301 P ) ¥ 37T & 3) P s g) 3 AT §
Consider the following statements :

a) Odisha Legislative Assembly passed resolution for creation If Legislative Council recently.
b) Currently, five States have Legislative Councils.

c¢) Proposals to create Legislative Councils and Kerala and Gujarat are pending in Parliament.
d) 1/12" member of Legislatic Council are elected by registered graduates.

Which of the above statements are correct ?

Answer Options :
lI)a,bandc 2)bandc 3)candd 4)aandd

Glefter faum R g9, am Wi s -
a) ISTFSAI SFITES 399 (A) FE ARMISAIS! A ARG PRUAT SATeied 3L
b) =TT &fids IMfOT AT TIeT ITed i AT PIUTE] BRIENT ANlS fAe e AR

SR RAT AT T
¢) SIUTANT g ARTcteAdie Haiftih faefid Megr 3.
gt SR :
q) RYM (a) MM (b) SRR 3T R) Weh faE (a) RIR M1
3) U™ (a) 3T (¢) SRR 31MRd ) |9 U™ SRR 3Med

Consider the following statements and choose the correct option:

a) The special provisions for Nagaland are made in Article 371 (A)

b) No act of the Parliament in respect to the religious or social practices of Nagas can be applied
without the approval of the Legislative Assembly of Nagaland.

¢) Tuensang is the most developed district of Nagaland.

Answer Options :

1) Statements (a) and (b) are correct 2) Only statement (a) is correct

3) Statements (a) and (c) are correct 4) All the statements are correct
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TRRTETAT JSIUTATSTET Glefieieh! Do e T 3 ?

9)q el sHrcEefier verT fau aRvyeaR SR w .

)T 3T sfeaT S fpae e e INeR AMFRT B ITdhdard.

3) T ISTESTAT TS 309 (R) 3 [IAY SRR USH PRI 3Tel! 3.

8) T SIS TG 39 A Wl Aehi WIS AT AuIe PRuAee e rgdcfi=an
fommRTef IRGT 39 A AR,

Which one of the following statements about the Governor of Maharashtra is true ?

1) He can nominate one member to the Legislative Council from the Anglo-Indian community.

2) He can nominate at least two members to the Legislative Assembly from the Anglo-Indian
community.

3) He has been given special responsibility under Article 371 (2).

4) He cannot reserve the bill for the consideration of President, dealing with compulsory

acquisition of property under Article 31 A of the Constitution.

¢) fauraRyg - IfIeR, Brf T Yt

ARG ISTHCTAT PIUAT DATIAR, TIUTTAHT TAT LRI SRIG FH bell 3ReA, TR U™ gikeg
FATY FRUITAT fhaT g FROITET MfUBR T feeler 3R ?

q) SFEBT 9&¢ R) TS ALV 3) ST 98E 8) TEBT &%

Which Article of the Indian Constitution empowers the Parliament of India to create or abolish

Legislative Councils, if the Legislative Assembly of the State passes a resolution to that effect?
1) Article 168 2) Article 167 3) Article 166 4) Article 169

CICICRE IS RECING R

a) faer ufRwe g wrh TR o,

b) IS faURCd UgRig 3redsl S,

¢) BT AAFCRIT Ao Aeear fu™ uRyc Fer el g™ fass ST,

Rida! o/t U/ |ReR 3mg/T 2

q) (a) AT (b) ?) (b) 31T (c) 3) (a) 37T (c) 8) AISUD! IR
Consider the following statements :

a) Legislative Council is a Permanent Chamber.

b) The Governor is the ex-officio chairman of Legislative Council.

c) Except few nominated members the members of Legislative council are indirectly elected.

Which of the statements/s given above is/ are correct?
1) (a) and (b) 2) (b) and (¢) 3) (a) and (¢) 4) None of the above

) fRAthiss wmers snfor faeh aften

feIYd BT DIV ANGT dTed 2

q) FRISI Q) =Rt fepan faeiq
3) "RIGH febam SUSi ) TRISH, 2l febar i
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In which language is the work of Vidhansabha conducted?*
1) Marathi 2) Marathi or Hindi
3) Marathi or English 4) Marathi, Hindi or English

SIARIfRT T IR fohell Prcoral SUATT FIATURUMU] QTR JHT 3R 2

9) INSISATT ) UERaSITd 3) Hfg=ard Q) I AT
Within what period is the Government entitled to reply an unstarred question generally?
1) Within a week 2) Within fifteen days

3) Within a month 4) Within three months

[T YERTeAT i Wiefieiidht ot I argd amed ?

37) TG PRUGAHL T TR & ANfdIg0l HehedrT ARAHE ISR 3T,

) TR AR 30T AHT[ER hHehTST JTedl] HUSAT diodlen L TR Fgura.

%) B HepedrT 9] URIT HIETT 3Tel.

) T TR § HNE IS SUcTedl 3Reiel ST YU HIEH 3TTR.

gt SR :

9) 31, § 301 P ) 3, P aAM S 3) § offor & Q) eIl T4
Which of the following statements regarding Zero Hour are correct?

a) Zero Hour is an Indian innovation in the field of Parliamentary Procedure.

b) The time gap between the question hour and the agenda of house is known as Zero Hour.
¢) This device has been in existence since 1962

d) It is an informal device available to the members of the Parliament.

Answer Options :
l1)a,bandc 2)a,candd 3)bandc 4) All of the above

RTATAthT HIoTT Siiea v Rl Sos ATl ?

a) el g - AT, QeSS goed] Hgtardl dsihs H ofel Juul.

b) TR U - |YNE 9ed (d5) AuudTgd! FAfid oo,

c) TRUT UG — YNGR BRIATE Sicgl DS JGaedl FRFTIR aTeld id gl

s AU & Lo,

d) gairaT gal - HA el g/ et STRIs AHIUC & JYu,

gt SR :

1) (a), (b) Q) (a), (¢) 3) (b), (c), (d) 8) (a), (d)

Which of the following pairs are not correctly matched?

a) Calling attentio Motion - To draw attention of the Minister on matters of urgent public
importance.

b) Adjournment Motion - To adjourn the House before the expiry of the time.

c) Privilege Motion - To draw attention of the Speaker towards when the proceedings
of the House do not follow rules of procedure.

d) Point of Order - To draw attention of the Speaker towards incorrect/incomplete
answer bya Minister.

Answer Options :

D) (a), (b) 2) (@), (¢ 3) (b), (c), (d) 4) (), (d)

HERTE ASTUT TR HaT GEURIETT AT : FERTE 10T HRE - HIRRT IISTHROT SATf0T o / 4R



9)
Q)
3)

9)
Q)
3)

9)
?)
3)

)

9)
?)
3)

)

For Private Circulation Only

(3) Tl JIST 3TfoT 9Tet 9TRA (3)

(19) TR TARTST AEATE Icshicht, ©3 dt Jfor vy &t gowdt
UeRI<T TSt Sespict!
U STfaude AR

(¢) IMYERId, dreeT darad, foregr aRug snfor amfdsra
YTHRANT 31701 UTH=mIT
GIGGAREING]
RregruRee
U fAepRAT =0T

(R) foreaT gerht T dieivg TR, AFRY AT 9 fAwr

Sregt Herdht uema=
Ui R IR
TRUART, TRURYS g BIauil

HEFRYTfeTehT
TR Ao g RS

(19) YR RISTeH Seshicit, 93 &t 0T oy It gl
YR TSt Sespic!
PEINGRISICLR GRS )]

q) YOI IISTal IShicht
TRICRTST &R 93 T HeIGOR e JHIAY 3Rieied], Wieiietdch! pIureT TRgal I1 Uit avdal 7Tgid?
31) TETERd, dard A T Ricer uRve am aleuffet FaeRieRr ueaeRier fase STdie,
) ORI 5T R SR SRR U, SAMEd T 9, STl d YR ATaudTdT, SRIeT hRUTT
Jfor aToRuITET JIRIBR FHIIE IR
&) TR 5T AT ISUE AeuarIS 29 9N g fhHE qarier SR,
T) TN @RISR 9 MR Il HARIIEd IR JaRId Iod Aelmed ufafftea varg
.
Tt SR
9) Seh 37 MO & ) Teh § 3MUT & 3) Beh § M0 § %) heh 37 3T §
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1)  Which of the following are nor the voluntary provisions of the 73rd Amendment Act on Panchayati

Raj?

a) Direct elections to all seats in Panchayats at the village, intermediate and district level.

b) Granting financial powers to the Panchayats that is authorising them to levy, collect and
appropriate taxes, duties, tolls and fees.

c¢) 21 years to be the minimum age for contesting elections to panchayats.

d) Giving representation to Members of the Parliament and the State Legislature in the Panchayats
at different levels falling within their constituencies.

Answer Options :

1)Onlyaandc 2)Onlybandc 3)Onlybandd 4)Onlyaandd

) 3 T GEAIGIRIAR TARId! ATl Jaeaesdl DUl dRAal 5T TRORITS! Ufesd 3ed ?
9) -3 TR G R) Ffedd Briwres
3) I |uh g g ) Riegr faem A

2)  According to the 73rd Amendment which of the following are optional provisions left to the
state governments regarding organisation of Panchayati Institutions ?
1) 2-3 tier structure 2) Fixed tensure
3) Role and scope of Gram Sabha 3) District Planning Committees

) TR ISIfdvaes At

3) ARRL UMD TR AR SShicil
) 03 T T 0 T TS Gov! PIIAGR Yalefdchl BRI IR et el ?

a) AT foRIRT =R b) SBiBRE fadganRor

¢) JASHR 9T 9 T4 9¢ TR Tt d) g veeneedt fam

3 IR 9T -

9) (a) wh ?) (2) T (b) 3) (@), (b) T (c) 8) et
1) What was introduced by the 73rd and the 74th Constitutional Amendment Acts ?

a) third tier of government b) democratic decentralisation

c¢) reduce the age of voting from 21 to 18 d) rules regarding union territories

Correct Answer Options :

1) Only (a) 2) (a) and (b) 3) (a), (b) and (c) 4) All of the above
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(¢) IHURIRIC, dicjent Y, foreat ulRyg afor arfaera

JTRTHT ST ITHO=arad
GIGEAREIDG]
RiegruRug
DIEICEIRIBIR P

q9) YTHRTYT 30T A==

?) dTeIehT Y=

TERTE Riegr uReg mfor darad Aftdt srend geiimruifeegean JifdearnT SRareT SEd aTeieud!

PR U gh A ?

q) PIVITE! STfALATATET SRTa FTegl IRYCeT THuT Aexdred [ /3 AT 93 RIS hod UTfeol.

?) aifdearT oG UIRA BIVATHRAT Tl AT 2/ 3 eI JAaedehdl IR,

3) PIUATE AT SRANATS! BB THT eTeusl Negl IRV T BRIGRT AfUBR
hac I

%) AfRST T ATBfADRT AfticiedT FHd g A a1 Tgu 3ifdear oX1d fhAT 3 /8 AR HRedTes
TR RUT 3MTGh 3.

Which of the following statements is not correct regarding no confidence motion again the office

bearers in Zilla Parishad under Maharashtra Zilla Parishad Panchayat San Act ?

1) The motion of no confidence should be moved under the signature of at least 1/3 the total
strength of Zilla Parishad.

2) No confidence motion should be passed by at least 2/3 majority of the total number of members.

3) The Chief Executive Officer of Zilla Parishad can only preside over the meet called for the
passing of the no confidence motion.

4) No confidence motion against the Chairperson of Women and Child Welf committee is required
to be passed with 3/4 of the majority othe total strength the Zilla Parishad as a special case.

3) fSiegr uRug

TERTY AT fegl uRkeg FHasumied Hivkd U gha g ?

q) RSiegr uRYS STe&T=aT ThHUT SIAUD! Yo Teh ST HigdIhRal IR 3.

?) Ricar uRwe srezer anfdr fawy |fficiiean G v egifteR) I TR FGIFEaR Sk,

3) Rtegr aRvcehies amvfiigRasT a waeedr a1 afidia Rier aRvca see ga uefig aregs ra.

) Riegr uRecan srezemr semed 4 aufardt sRIar.

Which one of the following statements is incorrect in respect of election of Zilla Parishad in

Maharashtra State?

1) The 50% seats of Zilla Parishad Presidents in the state are reserved for women.

2) The election for the posts of Presidents and Chairpersons of the subject committees are con-
ducted by the Collector under the supervision and control of the State Government.

3) The President of Zilla Parishad is the ex-officio Chairperson of the Water and Sanitation
Committee in Zilla Parishad.

4) The tern of office of President of the Zilla Parishad is of 5 years.
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¥) FHfArRITEL I

Trefid faum foaRa o awa gy fast :

a) 2099 Hlell QY TAT YSIGORIGR "HEDRI TXUT’ &1 IRy Jgeed FHIIE PR 3Tel.
b) 3EEE 9R(9)(c) AL 'AEHRI TRAT TG FRUITET IRIBR FgTel PRUAT 3T,

¢) dle HeH I BRIFST YRAKN IfgedT HehR BRIGT URIT el el

tl'ﬂ'hﬂ%?ﬁ:
q) (a) 3TN () SRISR AR ?) (b) M (¢) SRR 3
3) (a) 3T (b) VIS e g) g UM SRR amed

Consider the following statements and choose the correct option:

a) The subject, ‘Co-operative Societies’ has been included in the Constitution of India by the 97
Amendmentin 2011.

b) The right to establish ‘Co-operative Societies’ is given in Article 19(1)(c).

¢) The first law related to Co-operative Societies in India was passed in the tenure of Lord Curzon.

Answer Options :

1) (a) and (c) are correct 2) (b) and (c) are correct

3)(a) and (b) are correct 4) All the three statements are correct

() foregT gerht 9 Uietid USTRIH, ARRE WA HRAT

fSregt Herdht wemra=

Tret<T HLTRA

TRUARI, TRURYE g BIavf
HEMTRYT eI

TR Ao 9 TRfAwrT

q) fS1egT Herdht gemRT=
Q) el ULMRIH

3) TRY=R, TRUYRYS g Bravi

YR TSNS 98] T 0% T HEAIGHRIT DIISTIHII AR ARA ... TR FRUTfesehT

31T

q) S R) 3) IR 8) o

According to the 74™ Amendment act, 1992 of the Indian Constitution there are ......... types
of Municipalities in urban India.

1) two 2) three 3) four 4) five
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¥) HEFTRYTferaht

AT ARFATERIS GHT TR LRI SN FgTed] Jfgdreticiier el ... 3T,

31) U SUCTE AlhARIUET 3T MDA IRAeIed] G AWM FHF HEFIRIT aATaeh TTRrepRoT
T euaTa I,

) TP AT AlpuIeT—AlbIgeh T PRI,

P) TEURMET AR g

8) Ricer Aee FUUH SR SN0 T I Alua FgUH Riegl Ui Hri R,

qgift S :

9) 31, § 2701 & )T, HIAMT S 3) 31, B MM S ¥) 31, §, & 3T

Recommendations of the Sixth Report of Second Administrative Reforms Commission on Local

Government are

a) Set up unified metropolitan transport authority in all cities of one million puls population.

b) Constitute a local body ombudsman.

¢) Set up District Councils and the Collector would work as the Chief Secretary.

Answer Options :
lI)a,bandc 2)b,candd 3)a,candd 4)a,b,candd

4) TR S 9 RPN

geiet fIumiieh Ha5 HeMR & fderd mfteser (MMRDA) fasfie o G gehier o ?

9) I MIRIARUIT TARa G 37Ted.

R) AT UITRABROTRI FATHAT AR004. et Silefl 32

3) FEFFR STRIhId! HU oG QTRIT .

®) AT UIRROT qeodes0], g (1T, JIofgRasT ST qafarer a1 fSHRIHe GURUT GSquare! Wit
IR 3Tedl.

Which of the following statements about Mumbai Metropolitan Region Development Authority

(MMRDA) is false ?

1) Chief Minister is the Chairman of this authority

2) This agency was established in the year 1975

3) Metropolitan Commissioner is an ppointee by the Government of Inida.

4) This agency brings about improvement in sectors like transport, housing, water supply and
environment in the region.
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(8) AR SRUT
(30) HEE™ HRE, |

AT RETIANIS BRI

Hifee iR srfefeam

HERTY AT eAlhaar ga AfAfam, 209y

9) FRIETA T HETaTd! PorH T FreE avge

) BRIETE T&erT JF0T T 3P

3) PrRTEAcT 321 T GOvel, 3idiet, PIRTENE] Fepid] d Fa¥ qrs]

(99) 9T — AdSiHG 9RO 3for SR

ATdSTAeh R0
faerT PR

Arfior fasprT
TRRY RO g Faen
e1forep eRor g fdwrT

(92) T Heh, TaIAAT LT HEHIBUT
% 30T Goet TTedh, TAAWAT HRAT HEHIHROT
qTeThTa T HigeT AETHIBRUT
SRIfer ST, STt
PR, SAS ANRSD g TheqdTiereT
gaT ol g SYeTfores Hariaor

(90) TEGR BRI, FAd

AT YRETAYIS IS
Hifeelt 1R srfdfAam
HERTY TSI Alhwal ge 1fafam, 209y

BRI GITRATATIS BRI

q) AT FRENMATID BRIG

TNTREPTT PIIGT ARYY T, WIIBUD! DIUAT FIRITGR TEIG! ch! HRAET TRIRSD & bl 2

a) T SR SeaTges b) aRAT gHH ¢) S YRATd Hed™

d) JTERfeRITER e) Uil gR

WISISUd T T e

R SR :

1) (b),(c),(d) 3T (e) ) (a),(b),(c) 3N (d) 3) (a),(c),(d) 3N (e) %) (a),(b),(c) 3 (e)
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Under the Citizenship Act 1955, by which of the following ways can a person become a citizen of
India?

a) By incorporation of territory b) By inheritance c¢) By birth in India

d) By nationalization e) By registration

Select the correct answer using the codes given below :

Answer Options :

1) (b),(c),(d)and (e) ~ 2) (a),(b),(c)and (d) ~ 3)(a),(c),(d)And (e) 4) (a),(b),(c) And (e)

geiet S AU vt aRIeR ST ?

37) WA Fgaieft YR 157 IeuTe fAumTeaT wRamiidEry e gRe §-fdu SepriqeiR 3re.
§) YRATT s T3 aTRIBGRAT (IRATNERT) Bt SR TR el SIS 2Tahl.

g IR :

9) Baes T AT 3. ) Hacs § AT M. 3) PIUKIal TRT AR 8) Qval AT 37T,

Which of the following two statements is correct?

a) In most parts of India it is illegal to home-brew without a permit from the State Excise
Department.

b) Home-brewing is permitted (without a permit therefore) only for self-use in India.

Answer Options :

1) Only a is correct 2) Only b is correct

3) Neither a nor b is correct 4) Both a & b are correct

Sl STUATRRAT Uedel TRIdT 3Tcdel RedT Aea SulIT SRhieT DIV HIIeiRaies! e 28e ?

9) HRGH G8 faUr, 9¢&0 Q) At (ufcrYr) PrRIEl, 9R¢9

3) HISICRY Hifshar wfeaTr, 9963 8) e Yl |

Under which Act, a person who abets, either directly or indirectly to commit sati will be punished?
1) Indian Penal Code, 1860

2) The Commission of Sati (Prevention) Act, 1987

3) Criminal Procedure Code, 1973

4) All of the above

CICICHCPISECEINCRIN

31) UHd: WISH! et IE e g JINEaST hedhq, 2ehd wegdl.

§) SERARIGT 009 ALY G7gl Vel GURUIT HRUITT 3MTes1.

RIBUDT PO /AT U™/ SRR 3/ ?

9) e 3T ) Bad § 3) Sramfr g ¥) DI ATEl

Consider the following statements :

a) Originally the use of the National Flag by private persons was prohibited except on National
Days.

b) The Code was amended again in 2007.

Which of the statements given above is / are correct?
1) a only 2) b only 3)aandb 4) Neither

HERTE IASTUT ARRY AaT GEURIET AT : TERTE 10T RS — IR IISTHROT 0T 6T / €8
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<l e PHRIGT 9R¢ T IR PIUAT BSAFGY ‘AT ISIBRT P07 ITesT Fr&M AT 37T 2
) BeH Ab) Q) BH Y 3) P ¥ 8) aRIBUDT TPl ATer
Under which of the Section of The Commission of Sati (prevention) Act 1987, is punishment for

glorification of sati prescribed ?
1) Section 2(b) 2) Section 5 3) Section 4 4) None of the above

ol (Ffree) BrRIEl, 9]¢ T FeHid Yelos fUMieR faem o,

37) | ST Shi! T /TR PRUIRATS! QT FHRHTS SRS RO FgUrSl il T IS ehRuT
AT,

) Al TobedT ShiedT Tt ST PRUITT S T Schid HiER S0l Jdl T ISRADRUT 3.

AT S :

q) ‘a1’ M ‘§’ qeEl b R) ‘o7 anftr ‘F el W

3) ‘3 TP T T R g) ‘a1 W MM ‘T IP

Think about the following statements in relation to The Commission of Sati (Prevention) Act,

1987

a) Arranging of any function to eulogize the person who has committed sati is not a glorification
of sati system.

b) Constitution of temple in order to preserve the memory of a person who has committed sati is
a glorification of sati system

Answer Options :

1) Both’a’and b’are wrong 2)Both’a’ and’b’ are correct

3) ‘a’is wrong and.’b’is correct 4) ‘a’is correct and’b’is wrong

GTSIAUD! DIV P Al AfTaY BRIGT 93¢ TT 3wl {18 uT 31ed ?

31) faua el ST Ug R

¥) freder It SugmEn i 8T qed Bl

&) | AUl PIURATE! PRAUehId AHies 2o,

3) Rraduelt STesy Hvara HAIRd a1 F919 B UeUTT [TUasT a9 PRUAIRT I%Gu),
i S

9) 31 Beh Q) 3 afir & 3) rgamir s ¥) WIS Aqd
Which of the following acts are punishable under the provisions of ‘The commission of Sati
(Prevention) Act 1987 ?

a) Investigating a widow to commit sati

b) Aiding the-widow in her decision to commit sati

c) Participating in any procession in connection of sati.

d) preventing the widow from saving herself from being burnt alive’

Answer Options:
1) a only 3)aandd 3)a,bandd 4) All of the above

HERTE ASTUT AR HaT GEURIETT AT : FERTE SAT0T HRE - HRRT IISTHROT SATfOT oI / €9
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Tl (WY PISTIAR JeiGUd! DIV Hed Fll STURT HICHTE QUIRT 37T HgRT RUIRT Ao

SIS

37) |t AT i IRGUATAT YT IxOTAT YIfSRATed] el STSUDT ST,

9) el ST SRS TeRYes] IURRIT g WAfshd AEHRT v,

&) Al TeTNT Gd Gola] ST BRI 8le TR T [AUdeT 4T SardesT Wit dreu.

3) Wl SgTaT faR e 5w, 72 Teud @ IR Qo (WieTe)

gt SR

9) 31 Heh ) P i s 3) RNioud! A ¥) RIS DU AT

Under the provisions of The commission of Sati (Prevention) Act’ which of the following acts

shall be deemed to be an abetment of sati ?

a) obstructing the Police taking any steps to prevent! the commission of sati’

b) being present at the place where sati is committed as an active participant.

¢) making a widow believe that her commission of sati will give spiritual benefit to her deceased
husband.

d) encouraging a widow to remain fixed in her resolve to commit sati.

Answer Options :
1) a only 2)candd 3) All of the above 4) None of the above

?) Aifach SiffpR arfefm
IR JMfUPR WieiBuD! DU HHd geriel 31t T g

a) Sifad g Fard=raT gadh b) Myunfvgar g

¢) MY g INfIRH! FaTRITaT 86 d) el g

WSIGUDT DT G T 3 7

1) (a) (c) R) (@) (b) () 3) (a), (d), (c) 8) (a), (b), (c), (d)
Right to Information is more related to which of the following fundamental rights :

a) Right to Life and Liberty b) Right against exploitation

c¢) Right to freedom of speech and expression d) Right to Education
Which of the option given below is correct ?

1) (@) (¢) 2) (a) (b) () 3) (a), (d), (©) 4) (a), (b), (¢), (d)

s gF U foaR @,

a) ATfec=T SRR S¥a JIfhdRIcaT TTOURIET PRIa 3Ted.

b) IITE [T, T T < T AT SEed Higal AT a1 F41 Aifeeht iR fesT gReld a1,
gt SR

9) Sl SRIR ?) P RR A 3) () TR (b) TP ) (b) ¥ (a) TF

Consider the following two statements :

a) Right to information is being pursued by individuals all over.

b) Various societies, movements and countries well informed or otherwise are following right to
information.

Answer options :

1) Both are correct 2) Neither is correct

3) (a) is correct (b) is not 4)(b) is correct (a) is not

HERTE AU AR HaT GEURIET AT : FERTE 10T HRE - HIRRT IISTHROT JATOT oI / €¢



3)

3)

8)

4)

)

1)

For Private Circulation Only

gelos faurmEr faarR &,

a) AIfecl T <O ARG IR 98 37T%.

b) SiegT Wi HdeT TEHAT e A ATHINTD 3R X1 el

IR SR

9) (b) W F (a) T TR ISP R) (b) WRIR R (a) TR RIS FIEIDRUT T8l
3) QAR ID 8) I (a) SRR

Consider the following statements :

a) Non dissemination of the information is a root cause of social inequality.

b) When the participation in the governance is not all round social unjustic could prevail.
Answer options :

1) (b) is correct and (a) is the correct explanation of (b)

2) (b) is correct but (a) is not the correct explanation of (b)

3) Both (a) and (b) are incorrect.

4) (b) is incorrect (a) is correct

geios faeer faaR & -

a) ARG Hifeciar PR 3Mmaeds g ueM Ry i SIRT SHfie 988 mged 1.

b) YRAKNS S ~IRISI IRAR g 31 Pl ARG ~IRINISH HIfcan TR JTMaTd 3R,

gt SR

q) qrgl RIS R) PIUCTE RIR ARl 3) (a) RIR (b) Tb~ 8) (b) IR (a) b

Consider the following statements :

a) "Citizenry has right to know" was for the first time said in the summit at Rio-deJanerio.

b) Many courts in India have reiterated that dissemination of information is an absolute must for
attaining social justice. Now state whether.

Answer options.

1) Both are correct 2) Neither is correct

3) (a) is correct (b) is not 4) (b) is correct (a) is not

3) HERIY AESIHG dAlhadT g2 JfRa™, 2094

WIABUDR! PO AFHS WIS Sinemerd Fgnrft Srhemeiaed HuiaRer Jfad g ?
a) T 9 faymHesMed U faaro.

b) URFTRIUTT ThR RIS DU

¢) Hrfect SIfrPRIAT ARGR AR T YA URGDH S=au.

d) TRIHRT PRARIASI SO Ty,

qfft SR :

q) (a) S () ?) (b) 31T (c) 3) (c) 3for (d) 8) (b) 3o (d)
Which of the following indicates the transformation of representative democracy into participatory
democracy?

a) By asking questions in parliaments and state legislature

b) By launching complaints against administration.

c¢) Using RTT act to make government and administration transparent.

d) Getting knowledge of functioning of governance.

Answer options :

1) (a) and (¢) 2) (b) and (¢) 3) (¢) and (d) 4) (b) and (d)
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¥) PRI GATEAATID PRI

HERIET SR U ST T1Gaul dahreelR 3Mg. Jeios aTeiIoie! URdT Al —
a) 3P GHHIGT SR fdepd HUFRITST b) gleas a1 “‘IR"’ 7 % fovarTSt

¢) 3T ERIT TRe SIUIATS! d) TPT SR GERIPS SRy UGRATS!
RGB! PIUId fau™ /faum bR /g ag/3med ?
q) (a) 3or (¢ ) R) (b) 3) (c) 8) PIUIEl ATel

It is illegal to drink and drive in Maharashtra and one also needs a permit :
a) to buy liquor from an authorised shop. b) to consume liquor in a hotel or a bar

c) to possess it in your house d) to carry it from one place to another
Which of the above four statements is/are incorrect ?
1) (a) and (c) 2) (b) 3) (¢) 4) None of these

Y E I o I T ST 3ot SgTdl AT S et (‘I <) AHA T eret JRar & et
o177 A 3.
) FAVINT ) HISICRIUE SAYIN 3) gHcdl ¥) DT Tepgr AT

"A" intentionally pushes against "Y" in the street. "A" has done so without "Y's" consent, intending
to cause injury to "Y". The actof "A" is ........
1) Force 2) Criminal Force 3) Assault 4) None of the above

g WA CIRCEICNIISINE

a) AT ANIRG AR} groRo.

b) TeaTeT ueref 3rer RRHT Saul, i SiutdhRe T Tl fohall 3T PIVICATE! SchictT STURAT HTat Foctt BT
T ST AT AT gige febar Tfteed SRR ARIRRM g5 Usal.

¢) DIVATE! AU T gIUaT, Tideqel PRUART fohaT TIRM PRUaN Had 7 vl

i SR :

) ®h (a) R) (a) 31T (b) 3) (a), (b) 37T (c) 8) AT Tehgl AT

"Force" INCLUDES -

a) Use of own bodily power.

b) By disposing any substance in such a manner that the motion or change or cessation of motion
takes place without any further act on his part or on the part of any other person.

c¢) By not inducing any animal to move, to change its motion, or to cease to move.

Answer Options :
1) Only (a) 2) (a) and (b) 3) (a), (b) and (c) 4) None of the above

g FE eRia aig, ST, a =T SR STEieed] UTiMed Jehed dIoll, O Idhesd 38 B
HIfed SRITE! 3, IFR AT dIse g g R ‘31" = & el ... 31T,

9) HISCRIUE TSI ) gHel 3) AV ¥) TRITUDT Uehgl ATal
"Y" is bathing. "A" without the consent of "Y" pours into the bath water which he knows to be

boiling with ill intention. "A" has committed ..........
1) Criminal Force 2) Assault 3) Force 4) None of the above
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gdie fumitdT o faur /fum SRR amg/a 2

a) "t qeT SSYT Prée 3R T’ I o Teurdl - @ 9 gHel’’ a1 AR Hisq.

b) ”a”waﬁmwsﬁa@zﬁaﬁaﬁ foret ficft areet fobar JRT giget I STvfia ST I forea
AT a9 del — '3’ 7 e S1eid BISIRIUTT qeTsRINT el 3.

T SR :
q) (a) TWER AT R) (b) TR 312
3) (a) 37T (b) Q! TR A 8) (a) 3T (b) Qg I e

Among the following statement/s is/are correct......

a) "A" saysto"Y" that "I will give you a beating" - this act amounts to Assault.

b) "A" intentionally pulls up a woman's veil. "A" does so without her consent knowing it to be
likely that he many thereby frighten or annoy her. "A" has used criminal force to her.

Answer Options :

1) (a) is correct 2) (b) is correct

3) (a) and (b) both are correct 4) (a) and (b) both are wrong

"3’ UepT AT SR JHeh! Alg AN, 31’ g1 Pl '’ R gl ISARSAT AuITT S IATZ
areft @ g’ a"rwﬁw“a"mw}ﬂaﬁm“ 31" =1 g1 Pellell DRI FgURT Agel ?
) FAVINT ) BINIERIUE SAYIN 3) gHcl ¥) TR Uehgt ATal

"A" begins to unloose the muzzle of a ferocious dog, intending that he may there by cause "Y" to
believe that he is about to cause the dog to attack "Y", "A" has committed ........
1) Force 2) Criminal Force 3) Assault 4) None of the above

(99) AESIAS RO 0T PRIsH

AIdSAfe GRoT
e drisH
yrtoT s
JIRRY RO g Fraenm
Sterfore e g e

q) WSS GROT
93%9 ATl YRA ARPRA FDReled] Fa 37w URUIMS Jeiaudh! Pl e Hgw BHT $iTel 2
a) SIS b) eHfFRYeT c) ANBATEY d) HeRTaE
3 IR T -
) (a) ®h R) (a) T (b) 3) (@3 (c) 8) (a) T (d)
Which value cost its salience with the adoption of the 1991 New Economic Policy ?
a) Socialism b) Secularism ¢) Democracy d) Federalism
Correct Answer Options :
1) Only (a) 2) (a) and (b) ¢) (a) and (c) 4) (a) and (d)
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99 Hrell TfiepRetel Td 3l YR ...

9) HHNTECER 3MUTRT 8. Q) FEAErAT dwielt e Feftd Tega.
3) RIS deve 8. Q) FHISTATCTRIT TRl ULRAT PRUIR 8.
The New Economic Policy adopted in 1991 was ...........

1) based on Socialism

2) not at all related to the principles of Socialism

3) indifferent to the concept of Socialism

4) praised the principles of Socialism

YT Foedn M AR g’ goffdett S ?

a) AT ST IfdeT

b) WA Hhedwar 3T fohar faemrTet Hafd gaad

¢) HAER @ AT F¥cdia Ufrf-efiear ga warem Jiomell 9adn

d) AMI ST 1D JeRIael AR HepouT

S IR 91 -

q) (a) 3T (b) ?) (a) T (c) 3) (a) 3T (d) 8) (a), (b) 37T (c)
Which of the following statements imply 'general consent' ?

a) support among the people

b) general rise or growth of a concept with agreement from all.

¢) acceptance among the electorate and their representatives in Parliament about a policy.
d) doctrine about the general collective intellect of common people.

Correct Answer Options :
1) (a) and (b) 2) (a) and (¢) 3)(a)and (d) 4)(a), (b) and (c)

STty RIS &3 HeTHT M I ARG BT M 7

q) I SRR JSThT IGUITGR FAlpHe ‘IS AeRcT TR el

R) T ISR gAY Teh RIS AT ehcleR R e,

3) I RIRGeg Igdia U 3ficier 3T SFMThe1 ISThRUT fTehfdet.

g) T ST A9y fHfor et Y, 3MUel ISThRT AL g AT R ST,

What is the main contribution of Mahatma Gandhi to the field of political education ?

1) He spread 'Political Literacy' among the people through non-formal Gandhi to the field of
political education ?

2) He emphasized the need for keeping education free from political interference.

3) He taught agitation and anarchic politics in a disciplined manner.

4) He made us believe that our political end should be compatible with the means.

Wieles FRIUitd) v ffum I amg/smed?

a) ST AT Thfad HTedhrt T

b) TRIT S ATl

¢) SRHIAT TROIRAT STaaeaeh e fesrear.

gl SR

9) forgt R T (a) g (¢) PRAT 3MAID Q) i W= T (b) 2 (¢) BRAT 3MaTH
3) forgt RIsR T (a) B (b) BRAT 3MITH 8) (a) T (b) RIR, (c) .
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Which of the statements given below is/are correct ?

a) Means of production should be commonly owned.

b) Profit should not be a motive.

c¢) Individuals should get goods only as much as they need.
Answer Options :

1) All three are correct and (a) is necessary for (¢)

2) All three are correct and (b) is necessary for (c)

3) All three are correct and (a) and (b) are necessary for (c)
4) (a) and (b) are correct (c) 1s not

ST) cfleh Heh HHINIIA XTedId

9) ol T §RAUIR ATEN

%) AP IR ANAT it ST TN PRl

) IR AfPR Fifed amed

i SR :

9) Wh 31 ) eh 37 30T § 3) Beh § MO S ¥) Wheh 31, § 3T &
Criticism of judiciary is inevitable because ........

a) People live in a free society

b) People will not remain silent

c¢) Other branches of government also attract criticism

d) Authority of courts is limited

Answer Options :

1)Only a 2)Only aand b 3) Onlyband d 4)Only a,band c

qdies O RUFTIG PR Ak 3R ?

37) PIUATE Ui ATfieh e faehrd HuT HREdrn & Hield ATel FeUd Qlval SIRIaRT e

§) AEo-! PBIosvll FARTAT ¥R TR SHRUSAT Uresudast) 3nfiie faeritesr meared e

gt SR :

q) Tch 3 Q) Wh 3) qFel o STfor § 8) el ATEKd

Which of the following two statements is/are correct?

a) Since no party knows how to develop our economy both the parties are insecure.

b) Nehru instead of practising secularism during the post-partition hot and heady mood promoted
economic development.

Answer Options :
1)Only a 2)Only b 3)Bothanorb 4) Neither anorb

foaTeT orraTeT UfgedT QM GUAHHEY TRRTY ORI § .......... & 2.

9) ITHIT gelT R) faeht Aezr 3) dAfea ) IR]IY WA
In the first two decades of the 20" century, foreign policy was a realm of
1) Political parties 2) Legislature 3) Soldiers 4) Foreign offices
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gTefiedeh! DI B @R ARl ?

9) TT FUHM AlhTT IISThIY e[0T IR Hed el
Q) ISTHIT el AR ISThr freior Iuetses o T,
3) AHITE GRITTIRAIST ITTBIRT RIS 3Ta9d 3iTe.

Q) IrSTh1r fareror & cufehe SATe STIfoT AR TR,

Which of the following statements is not true ?

1) Freedom struggle helped to educate people politically.

2) Political parties provide proper political education.

3) Political education is necessary for bringing about social change.
4) Political education is aim and means of individual.

WTSISYDT BIor /<t e /7 SRR Mg /d 7

31) foraTeaT orcereaT UfRedT USTRT auided SInemal T JMTARRIFRT AUl ARale 3TIRT ST
) PRI A R YRV AT Bl BIRIR Tbdes! Svdld el

@) IMRIT ISTHC JRIET ATUTT IS W8T b,

§) femdic a1l gfeamrenear adEr R YR SRIAuAT g HH1E g,

gt S
9) Heh 3T TRISR IME. ) Fd fqu™ ISR 31T
3) Bth § SRR 3R, ¥) Theh § 37T & SIS 3R,

Which of the following statements is / are correct?

a) Democratic countries studied international relations thoroughly in the first half of the 20
century.

b) Labour movements decided the foreign policies of European nations.

c¢) US Constitution promoted the study of international relations.

d) Universities and intellectual circles had little impact on foreign policy formulation.

Answer Options :

1) Only a s correct 2) All statements are correct

3) Only d is correct 4) Only b and c are correct

RSP fareom sifr SR FrR oM ?

9) SrfrcaTgreaT Faffior fIeRIrT ST Ul

Q) FHAFID AT A0 U,

3) foemeafaed Qo Sifgem BT IR ROl

g) 2Nefforer FRIFT YG /TRT UIISAT Ity PHRoT Ul

What should be the ultimate objective of political education ?
1) To foster all-round growth of elitism.

2) To create an egalitarian society.

3) To prepare students with high intellectual acumen.
4) To provide genuine support to educational institutions.
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) AT PrRissT

3) ot AT

T ARATT WSB! DIV HRIGHR TR AAVRT JTHIT AHIRD, M Frareslt =my Suarean
¥ et wurdt ared ?

9) I geB PRIGT R) ATTHI Hes Bl

3) PNl PHIG SHIF YR BRI g) hoigehl PRICI

Which of the following statutory provisions will you view as the most effective instrument of
rural socio-economic distribution justice in the independent India?

1) Forest Rights Act 2) Agricultural Tenancy Act
3) Agricultural Land Ceiling Act 4) Debt Relief Act

¥) SIRFY €RYTI g Jlaer

y) $teifores Rvr g fawmra
faTe707 ge5 PN 008 T T Il WTeflelich! PHIUT ML ?
q) FRerar Fger
) AT e JHTOT STIfOT 3MMgedeh freor
3) & d 98 FANCKI T4 GeT1 Hehrd g Hichd ferefor
Q) R T4
What is the main purpose of Right to Education Act, 2009?
1) Eradication of Illiteracy
2) Universal Elementary Education to all

3) Free and Compulsory Education to all children of 6 to 14 years of age
4) Al of the above

IR Serfors FRAEd ISTHRUT a8 B 8l 7

9) T ISTDHRT ERALITRIGTT ST ITfSeT UTH ST

Q) T ISThRI ARG IISTehid UTfoaT i arehedl e,

3) TFT AGHIT EEALUTIE 37y ISThid UTfSaT UTH STe.

) T DT gEAUTIART 3Ty ISThIT qIfSHT UTH ST,

How has politics been related to educational institutions after independence ?
1) They got political support without political interference.

2) They got no political support with political interference.

3) They got mere political support with political interference.

4) They got mere political support without political interference.
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faerm Serfire sravemed qreg AT DIUTCH MM 7
9) ot freromrear fafesr Afee o ameRa arme.

R) ot femeater R qe fdafad g,

3) e Hofieg a1 fyHamars) Faourd 3mR.
) ot org ufs ava HRY 3o

Which is the major problem of the present education system ?
1) It is based on the British Model of education.

2) It does not inculcate values to the students.

3) Itis highly hierarchical and Inegalitarian in nature.

4) It perpetuates the domination of the few privileged.

39 frerur aEAciieT Rz T0] Heell gelerieh! PIuid fe gebrer aime ?

)

?)
3)

8)

2004 Hrefear dY fUFIGT JFaT Agcardrett IER S TR I ey dwerird! waas Fams
IR fARRRT hefl B,

e A & Su e e Rt wads e IEoRt IR dheft gl
qegreaT 39 f3eir eTdier M IEugSt T e En S 81T ST dhe TR SRTfa
Pl 3Tg. ot TAUT FgurST S freror Herflawor fame aom (HEERA).

AT PlesTa I Freror &t fendis arger S (UGC) 2 Uahid SifiedTal 3Rietelt frime

ZAU 3Te.

Out of the following statements about the regulatory body in the field of higher education, which
1s not corect?

1)
2)

3)

4)

National Knowledge commission under the leadership of Sam pitroda in 2005 had proposed
independent regulatory authority for higher education institutions.

Yashpal Committee recommended single independent regulating authority for higher education
institutions.

Central Government has proposed to replace present regulatory bodies in the field of higher
education with a single regulatory body called Higher Education Empowerment Regulation
Agency (HEERA).

University Grants Commission (UGC) is the only existing regulatory body in higher education
at present.

(93) S T, TG HEATS AETHIGRUT

qTeThTD T HigeT AEHIBRUT
SR ST, STt

PR, AT ANRSD g TheqdTiered
gaT ool g SYerfores wardiaor
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q) STADI 9 AfRe AEHIBROT
gt Pt e A e 2
37) Rergid ATl geh I U ReRIT foraror 1% erepe.
9) A1 DRl var Reie AfeeTfwied BrEEE 3t S SEdRT .
i SR :
9) Bk 3 ) &b § 3) DU TRl ) 31 F § aral
Which of the following statements is/are correct ?
a) Education of women alone can prevent violation of their human rights.
b) Women should be more aware of the women laws than anyone else.

Answer Options :
1) aonly 2) b only 3) Neither a nor b 4)Bothaandb

AR T S TATAT IRUI, & ST T TPhR;

q) [ IFIMER BRI Roid WRE = Q) RoIiT Jowa drasiqy Ieh h_d
3) goN gavard! Qe R AT HRm Sad ) Afgerr anffe kT <d
Establishing Women's bank is, in a way :

1) Protects women all around from being oppressed

2) Emancipates women from the clutches of men

3) Confirms and perpetuates male dominance

4) Gives economic freedom to women

Rei=T & & e/ ?

q) fgery FRemor R) YOS PHeld M1 AraraTel! 3aet arfest
3) gouielt FHE 8) quigor Fehl Hesfaugrre! anfeie e
What would women want?

1) Special protection 2) Men should be kept under lock and key
3) Parity with men 4) Economic freedom to get fully emancipated
RS ATBET ... IS B el

9) Thid PRI TIR B R) eGP STERATITAT ATEIHI

3) A RIS RIS 8) aRIGUD! Tepg! el

Women empowerment can be done

1) by making strict laws 2) through universal declarations

3) by Supreme Court decisions 4) None of the above

3) e ST, Sl

AR I TSN Pl IMMEDATIR 5T IRBR! I ST hg 3 TIIbichs STHIT FEAIARul
RO Tfey PO R0 THhRal ?

9) 3Mfcepet 3¢ Q) 3Mfdpat g 3) anfdeper 3% 8) aRIcTuh! Tehal e
Under the guidelines of which Article of the Indian Constitution have the State Governments

accepted the policy of probhibiting the transfer of land from tribals to non-tribals?
1) Article 36 2) Article 46 3) Article 39 4) None of the above

HERTE ASTUT AR HaT GEURIETT AT : FERTE ST0T HRE - HRRT IISTHROT SATf0T eI / 91



)

1)

?)

2)

)

1)

For Private Circulation Only

3) 3NERA, SeRe, STeuRIEdiD, fdeamT

¥) PR, TS ARTRSG d Yeheqarid

Ugl g 3Me:

9) gfgerrear FEce fhar <nfiary faarg gara sreft s,

R) Wt 1Y R Qe seufdvg TaMiRIT g

3) ST foerolt el elles TRia IR I1gara

¥) ST foplt HrRERT HsSTaut BRI TSI TSI B hell 3TTR.
"Ghetto"1sa:

1) Place where marriages take place with or without the consent of women.
2) Custom where women live in slavery against their wishes

3) Place where people of a group live in poor conditions
4) Place where the undertials are tormented by the law enforcing agencies.

RIS FEIR T A <o g

9) HE fRremrds Q) aeefare

3) JErIT ITH ST SRAUIRAT IS HRT Bll. ¥) IRdfdd UM Jbe TI3S.
The leaders of the working class in Europe were ......

1) Great academicians

2) Idealist

3) A part of a group having a good understanding of war

4) Unable to grasp the reality

Y) JaT weaTor g ST&fOrh FaTHInRoT

T gah YR 9 @letldl U™ R e,

a) TERT b URUIET HaHH EGhR 4Q¢E HE HRUITd 3Tl

b) 2003 Hefidl YRUTAR Jaobrdl ARAT 9Y—3Y FANCIcleT hl 3Tl beft el

¢) 2098 ALl YRUIAR Yool JANCrE RN 94-3% Iy 372t defl 3.
RITDh! DU YU /= SRR e /d 2

) ®h (a) ?) (a) ST (b) 3) (b) 37T (c) 8) h (c)
Consider the following statements about 'National Youth Policy.'

a) The First National Youth Policy was adopted in 1986.

b) In the 2003 policy, 'Youth' was defined as a person of age between 15-35.

c¢) In the 2014 policy, the youth age-group is defined as 15-29 years.

Which of the statements given above is/are correct?
1) Only (a) 2) (a) and (b) 3) (b) and (¢) 4) Only (c)
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(4) 9! 856, AURAT 9 SIS

(93) "t &8 STERAM™I
T4} gegird AT Sivon g SirTfae R
qTTE g2 ARETUT /T Aauieiter aret
Hd1 §8 AT HeHide ~arTerd fHaret
(98) FAYT ABHR, AYd I, ISTURITE Arieeid T
ey JrforhrR
SIERUITE ARfgefe aw
T i
(94) IR AFAL Fep STANT — UAURIRARAT, UAURICdt, GAedtdiedt
T 9 IS 9141 g8 ST

TR, TodRel, Tt

(93) Tl 826 STTRIRATHT

AT} gl AT 21 TS9N g STRTfereh fRU
AT} §2B WRETUT / M WeHichiel ardl
AT} §28 HIFPT WU Tce ~aR—ITerRI fAidhTel

q) HF! geaie Wk SN0 g SIRTfa R

G IS ARBR T ...

q) AP STERAIT HA 3T,

R) h HAE IIGAThSH FHGISTaUN &S AT

3) Td IhAT s oI O W IPE AN QG A 21T,
8) TRIGUDT PIUIE! TR,

All fundamental rights are ..........

1) Part of universal declarations

2) Enforceable by Supreme Court only

3) Given to all persons and they can challenge its violation

4) None of the above
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Elefies fuTiie! amg e Fasr.
3) e 71 g & PR g 3R,
) 99 919 g g BN g% 3Ted.
%) Wd YT € © HIFd geh 3MTeC].

g IR :
9) Weh 3T RIS IR, Q) 31 31T 9 Tl TSR 3.
3) Beh & IRISR IR, ¥) qd SRR AT

Choose the correct statement given below :
a) All human rights are legal rights.

b) All human rights are fundamental rights
c¢) All fundamental rights are human rights.
Answer Options :

1) Only a is correct 2) Both a and b are correct
3) Only c is correct 4) All are correct
qTefier faem ara.

a) PIAT ISTDhIT = U eI RufestarT gemear a¢go Hefie STERATITT URig Pel Bid.

b) TR HEIGoRcIe0 [AHIRT T8 HRUARN TG Heil.

¢) PIIHT QUIATT Aot AR SRBR AU NG IRTITT Fatel ~IRITeR—IM 9¢¢3 ATl SER el

Tt SR :

q) (b) & AU (a) =1 GRUM 313 q) (a) 2 faur (b) =1 gRuH 318

3) (c) g UM (a) T PR IR, %) (a), (b) 3T (c) JTaT vhHBIef Heer Arer

Réad the statements.

a) The Republican Manifesto of 1860 had included a promise of political freedom to the Blacks.

b) The Thirteenth Amendment provided for Abolition of Slavery.

c¢) The Supreme Court in 1883 declared that the Civil Rights conferred upon the Blacks were
unconstitutional.

Answer Options :

1) (b)is the effect of (a). 2) (a) is the effect of (b).

3) (c) is the cause of (a). 4) (a), (b) and (c¢) are unrelated.

9¢9Y T IMRHT AR IMfIBR ST FIifeT T9r fslel, HRUT —
q) gatsEian AT Wua & Getl et g,

Q) BT AMBHT HAGHT PR Fegd.

3) T e R Sl Wit aidt Dl T Yelur ag avam AT 312 g
8) SRomdler il g 81 B,

The Civil Rights Act of 1875 USA had limited success because .......

1) there were many fields open for erstwhile slaves.

2) the Blacks did not have voting rights.

3) the slaves had become too poor to exercise their choice.

4) Southern States were being reconstructed.

HERTE IASTUT TRRY AT GEURIETT AT : FERTY 10T HRE — MR IISTERUT SATOT 919 / €0



“)

5)

)

1)

Q)

2)

3)

For Private Circulation Only

g T difiFeT T Sy, 3. &l g 9IS A PV AU 3R 38 ?

q) QAo TR e A,

R) ST FHUEUI TIeld BRIRA Bl

3) QU TSI BRIVGAEET ThAd -egd.

8) gIfereT It Hales YRV, TR g d1g Il STaTel YRV Jfeeid e,

Which of the statements about Booker T. Washington and W.E.B. Du Bois is incorrect ?
1) Both were American Presidents.

2) Both were active in the Black Movement.

3) Both did not agree on the way in which the movement should be carried out.

4) Washington was a moderate, while Du Bois followed radical policies.

R) ATl §e5 HRETUT/ ¥ eMfdler aret
SHRepeiicl T ATAHEY fAUTHIARU & HEHTATAT Ugel! SIAYUT FRRATIUS ST, BRI ...
q) TR FCAGRRIN AR TE FATelt Bl
Q) TR AfUBR SrffRmTeT aRqerd! sHctesTauft sgafeydyor Seft g,
3) PTeAT BT HaeHT AIBR T e,
8) TR Tepal e
Processes of sepregation and discrimination became deeply entrenched in most of the institutions
in the United States because
1) slavery was abolished by the Thirteenth Amendment.
2) the provisions of the Civil Rights Act were not implemented properly.
3) right to vote was conferred upon the Blacks.
4) None of the above

S PR R 2 o 2

31) g} BT SGEAIAvg g qare ~IITAATd gIe ARTAT 3.

§) 3MRBHAT I Hd! geArAT J&TUMhRAT I,

Tt S :

9) Beh 3T Q) Wh § 3) PIUdal el ¥) 31 g § gl
Which of the following statements is/are correct ?

a) Violation of human right can immediately be challenged in the Supreme Court.

b) The American got independence only to protect the human right.

Answer Options :
1) aonly 2) bonly 3) Neither a nor b 4)Bothaandb

Qlefles fUTiidT Por e A amg /3 ?

37) RIS ST FAE SHHR DHH IRUIN D 3R,
9) R AL bR 3mepor € et are g,

&) U AR T TRIY URUTEES 13 8ldl.

8) aMRdds RAMIT 3RY TRITY Wi 8.

gt SR
9) Uh 37 MO § SRISR 3Te. Q) Beh & 3NN & SRISR 3T
3) 99 foum sRIsR 3med %) Th § SRIER 3T
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Which of the statements given below is/are correct ?

a) In general, Europeans were unwilling to work in the armed forces.
b) Foreign invasions were common in European countries.

¢) European workers mainly talked about foreign policy.

d) USA had a well-developed foreign office.

Answer Options :

1) Only a and b are correct 2) Only c and d are correct
3) All statements are correct 4) Only d is correct
IRTY fqu e,

9) AR A Ploc T HEHTET Siig= ST ofRTe.

R) FMRARYdt IoFe Pleia AaeH STfUdR faRmdet e,

3) AIERATCSRIS PRIEHS Pbleodia HaqHTd MUDR feRidel e,
8) T PICH BRI P ART TUBR gy e,

Identify the incorrect statement.

1) Blacks had to live a life of segregation due to the Mississippi Plan.

2) Voting rights of Blacks were denied due to the Mississippi Plan.

3) Literacy laws were responsible for snatching away the voting rights of the Blacks.
4) The Supreme Court always provided Civil Rights to the Blacks.

g) 31, 9 3Mfr & A1 R IPRadsen foal wRHedis Ieadived
Tt SR
9) ek 3 ) Bh © 3) ek 37 IMfOT § ) SRS PIUIE! AT

There was religious prosecution in Europe ..........

a) during the rule of the church

b) during the regime of Henry VIIIL

c) after the establishment of the democratic system

d) during all the three regimes mentioned in options a,b and c.

Answer Options :

1) Only a 2) Only d 3) Only a and b 4) None of the above

3) Al §86 "I S idie ~IReriF Ridra

JNCRRTERT SIRITIEE Wlefleldd! P e aRIsR 31g ?

9) g IR BRIt 1fegr I HRRT 37Te.

Q) TGS 3MTelel TG U SRR ~JrTelered sgadr |rsfdel STId.
3) =rreftert g & Her aute dreadiaet 8.

g) fege =rmefier GAaSueh urs R
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Which of the following statements about International Court of Justice is correct?
1) The Court is permanently in session at Geneva

2) All questions before it are decided by a majority of judges present.

3) The Judges are elected for a six year term.

4) Retiring judges are not eligible for re-election

4RO T DTN JTRTHTTT FUIDTRTT hAGIR ~ARATHITT TN BRIEIER ffcer FHTSTT YfHept
STHYGR T I, Td 3N dligad TR dR @eedral Mae e R, ....... gagET faeft
IR U I BIe Ul dod el 3 e hed' 3RT e foel. Ry a1 JAuAR
TR PRATS PROITT 3ATell 1)

Tt S :

q) e g R) ST 3) et 8) i T

The English position on law of contempt of Court is best demonstrated by the Spycatcher’s case
in the late 1980s. After the House of Lords delivered the Spycatcher judgement, the .......... published
an upside-down photograph of the Law Lords captioned, “You Old Fools”. But no contempt action
was initiated against the newspaper.

Answer Options :

1) London Times 2) Guardian 3) Daily Mirror 4) Newyork Times

(98) HeYd AfUDR, ARGei T, Feryd eeied

ety JAfBR
ST RN Anfesfsd o
T i
q) Jeryd AfBR
AT BT /B 3Nl

31) MRS T Fd AR PR YU .

¥) AMRG IS Fd IS AIBRET STHIT .

P) WP eh! ITHL Fd AR AfTBRET STHIT g
T) WD ch! AT A ISTHR BRI SUHNT BT,
g SR :

9) Beh O, FAAMTPH ) Beh 3T, F3MUT S 3) Teh T 3MT § ¥) Wheh 31, & 3T S
Select the correct statements/s

a) A citizen enjoys all the civil rights in the State.

b) A citizen enjoys all the polictical rights in the State.

¢) An alien enjoys all the civil rights in the State.

d) An alien enjoys all the political rights in the State

Answer Options :

1)Only a,band c 2)Onlya,bandd 3)Onlyaandb 4)Only a,cand d
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EISISISIGEREEINE R
37) AR ISTECT TS 9 TR DIVl hid Stifad fdhar st w1 ‘dremedn arg
AihATRIERT’ fER1gd Tdel SR TE.
) YR ISTGCHT TR 98 TIR WRAT U 5T HIUATE! hiRT BIRISTge AHT ST
BIIAR FHM FRE0 ABRUR ATE.
R PIoTcht TG IR AT ?
9) o )T 3) B 8) RNIeich! Thel Ter
Consider the following provision :
a) According to Article 21 of the Indian Constitution, no person shall be deprived of his life or
personal liberty except according to the 'due process of Law'.
b) According to Article 20(2) of the Indian Constitution, no person shall be prosecuted and
punished for the same offence more than once.
¢) According to Article 14 of the Indian Constitution, the State shall not deny to any person
equality before the law or the equal protection of the laws within the territory of India.

Which of the provisions given above is not correct?
I)a 2)b 3)c 4) None of the above

Tl BT 1 I, Pral MEIAT YIS qiTesd Ui Fgd Jiaid STRId STR it bl
T hi TAFEC hed S ITdhd ?
q) R e R) 3 HAfe 3) 8 e 8) & A

Under Article 22 of the Constitution of India, with the exception of certain provision stated there
in, what is the maximum period for detention of person under preventive detention?

1) 2 months 2) 3 months 3) 4 months 4) 6 months

@refiet faum foaRe =i ¢

a) fomfty Weearg (Departmental proceedings) PIUIATE! WS DIVATET SThRT TepTd [ralRATS!
THTUET 3ffUeh desl STRIUT el SR ATel d Uehluar Afeieh deor & feefl SR Ta.

b) Fd:fag 18 T (self-incrimination) SUATETEC AREUT § Sl SN BRIGIHT IR IT Sl STacid
oI, 3.

¢) ¥ faog H1el 7 QUITEIE EREU BISIGRT ST feamf a1 Qeglel @eeamed A 3R,

gt SR :

9) fIU™ (a) SRR Q) fam (b) SRR

3) faum (a) 3T (b) WK ¥) faum™ (a) 3T (c) SRR

Consider the following statements:

a) No person shall be prosecuted and punished for the same offence more than e once, including
any departmental proceedings.

b) The protection against self-incrimination extends to both oral evidence and documentary
evidence.

¢) The protection against self-incrimination extends to both criminal and civil proceedings.

Answer Options :

1) Statement (a) 1s correct 2) Statement (b) is correct

3) Statements (a) and (b) are correct 4) Statements (a) and (c¢) are correct
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AT YRR G I TR G SR 1S Jeh el JUT ARDRIIS! Tl SHoudT
o1 JrAractt, TR ~ARAIT BIes A SIepT hetl. AaTe =TI IR Shlee] T e [T
A PRUIRATS! ST del; U0 RARITAIF ...

37) AT JhedTaTe Th dIhlg oo T g faa.

q) RIRIREMThT T AR JMARIJT FShRia dod T STTH el

®) T IhedTa] STER A8 el

g) T TR bt

gt SR :

9) Seh 37 ITMOT § ) Bth § 37T § I)FHH I, AT H Q) XA A9

In the Soumya case the Supreme Court acquitted the accused for murder but convicted him to life
imprisonment for rape, which Justice Katju criticised in his writing. The Supreme Court invited
Justice Katju to defend his statements contempt of Court ; but then, what did the court do?

a) Took offense and asked him to go away.

b) Insulted him by asking the security to remove him.

¢) Exhibited public confrontation.

d) Jailed him

Answer Options :

1) Only aand b 2)Onlybandd 3)Onlya,bandc 4) All of the above

‘o foogaT g T Heuid WSIGUd DIvd I RIS 3R ?
9) gt TR 3T ISR Hfcses

Q) PR Al erfeT JaR HRuImET S aR HRUAT a3
1) srTrEh e Rk

¥) PRITRIAR FHHT

Which of the following statement is correct with respect to 'Right against exploitation ?
1) Prohibition of traffic in human being and forced labour.

2) Freedom as to payment of taxes and the promotion of any particular religion

3) Protection of interest of minorities

4) Equality before law

ARG AT ST fehart 53 eI Fera e s/ fetedT DivrTe! S&ifireh Fid DIvTal
ARTNGRT pecs U, 9T, ST, HIST AT fhalT JTUDT DHIVIATE BRUMRKTE Fd9T ATBREAT SR ATal . & aRag
R ISTECTAT Tletlededl PIUT SFISard 3Me ?

q) 30 ?) A& 3) ¢ 8) R

'No citizen shall be denied admission into any educational institution maintained by the state or
receiving aid out of state funds on grounds only of religion, race, caste, language or any of them.'

This provision is contained in which of the following articles of the Indian Constitution?
1) 30 2) 16 3) 28 4) 29
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AR AMRDHT IUGY IR TEAHD AREUTAT geared] WG] PIuIT aRae! 3Med ? 3D

ITRAT AR Al Fpd s,

a) I Bl SHeESTEU gl ARAST ANRD ~IR—TSITT GIe JF]_ Aehelld.

b) IS A SHGITIUN e, IRIS Hare ST IR g 2Tl

¢) S S JARIeT IgHA (ST YUl AHRAG e el VAT SRAT 3e), HeTcHe AREUITE 88
fefd o el

d) aler IRTSATT BRI GeAT 7 TIadT SR ~ARITSAHT AT GERITT BTV IffBR TS
S Tad.

gt SR :

1) (a), (b), (¢) ?) (a), (b), (d) 3) (a), (), (d) 8) (b), (¢), (d)

What are the main provisions of constitutional remedies available to Indian citizens under Indian

Constitution ? Select the correct answer using the following codes :

a) The citizen can move the courts for enforcement of their Fundamental Rights.

b) The Supreme Court can issue necessary writs for enforcement of these rights.

¢) The Parliament can suspend the right to constitutional remedies by two-third majority, which
must also be the majority of its total membership.

d) The parliament can empower the courts, other than the Supreme Court, to exercise powers
for enforcement of these rights without adversely affecting the powers of the Supreme Court.

Answer Options :

1) (@), (b), (¢) 2) (a), (b), (d) 3) (a), (), (d) 4) (b), (c), (d)

) ISTURUITE Hrigefed T

"R ANDITEIRATS! 0T HRuATd Sffetedl ISTae-id ARG drarar FHhe Ul § T ATfa=aqut
aAfTSey 3TR. B Ocd JUTDhRD FaRaUTE! ATaid. HIF HdR i Divil Isel, Al FTEl FAHMIT0 aR B
SR ATET. T AT Teard] AR IRET AR, AT H SN AN Aegel ~ARIEINAR STe 2T
ARMOR ATel; Ry AU ot AdeRIAT Ffeaduul SR Td dnlel.”” 3 Wielieldh! Pioft Fgeal
AR ?

9) UfSd SR 8 Q) &t ™. @

3) o dt. 3R, IEEIR ) . . et

“Directive Principles is a novel feature in a constitution framed for parliamentary democracy.
They have no binding force. But whoever captures power will not be free to do what he likes with
it. He will have to respect the Directive Principles. He cannot ignore them. He may not have to
answer for their breach in a court of law, but he will certainly have to answer for them before the
electorate at election time.” Who said this?

1) Pandit Jawaharlal Nehru 2) B.N. Rao

3) Dr. B.R. Ambedkar 4) K.M. Munshi

ATAGUD! DIV ARTGEIS od § FHNSETG ad 77872
9) AT T HHEHEES T I Q) M =R g Hthd PRICANID TR
3) FHE AR PrRIeT ¥) GOt g IS AT helhRul IRGr
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2)

3)

3)

8)

4)

4)

For Private Circulation Only

Which one of the following Directive Principles is not a Socialistic Principle?
1) Equal pay for equal work to all

2) Equal justice and free legal aid

3) Uniform civil code

4) Prevention of concentration of wealth and means of production.

leflefdeh! PIUT! ARG Txd & qob Iogee-Tal T Aegell, Wy el FHEY ek TGO gR
STell ?

37) IS fasar et .

) GIERUIT AREU g FaU MM a9 9 9= SiIagErd &7 T,

&) T PHEEA B I THA I

3) GHM IR nead) Mo RS Jlthd BRICASIS TeRY.

3) |G ARG Iusifaepdt grefl |rer JRfAT R,

i SR :

9) 31, § 3701 P )T, P S 3) P, S MU S g) 3F, g M0 §
Which of the following Directive Principles did not form part of the original Constitution and
were added through constitutional amendments?

a) To minimise inequality in income.

b) To protect and improve the environment and to safeguard forests and wildlife.

c¢) Equal pay for equal work for both men and women.

d) To ensure equal justice and free legal aid to the poor.

e) To secure adequate means of livelihood for all citizens.

Answer Options :

lI)a,bandc 2)b,candd 3)c,dande 4)a,bandd

@lefies AU Pivr U v a1/ 3mea?
a) PIfPR] TB5ds TIRAT BITITATS! SNCRTERT IRUMT LIP3

b) sfiHa il &o oTahd ATeld.

gl SR :

9) (a) AT U (b) A ?) (b) I R (a) A
3) ()@ (b) qre! A 8) (a) T (b) 3T

Which of the statements given below is/are correct ?

(a) Only international inspiration is essential for the success of revolutionary movements.
(b) The rich can not be revolutionary fighters.

Answer Options :

1) (a) is right (b) is not 2) (b) is right (a) is not

3) Both (a) and (b) are right 4) Neither (a) nor (b) is right
JNARTERT ARGt P07 31feres STRah Bl ?

9) fefcer SHar

?) MRl BId

3) ST, TR JRAREAT UeHaiel GeEiar ArTi Siiee el Qe ST
Q) SRS ST
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Who were more aware about international problems?

1) The British people

2) The Americans

3) People from countries like Germany and France connected to each other by land routes
4) Asians

CIICACIISREEING R

a) AR gaff vl A= o H1RId Fegdl.

b) TR $RAT T TR PREM 95 UG, 2Ahciies U ARSI ATPRAT DRGT 3G I 2 ATaI.

PV YT 3/ 31 ?

9) % (a) ?) Fh (b) 3) ()3 (b) g 8) ()3 (b) SIe! Tl

Consider the following statements :

a) Previously Indians were not aware how to die.

b) In Communism the factories may shut down for want of money however in Imperialism factories
cannot get closed down on that count.

Which statement is incorrect ?
1) Only (a) 2) only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)

3) JoIYd S

AR TS WIBIBUD! DIV ST heied FHITE ATal ?

q) fasm gitar faerT wxur Q) ATdST+G FURI &0 ROl

3) HAgH X0l ¥) oGy ST 3o ISTgeHdie e I
Which one of the following is not mentioned in the Constitutional of India as a fundamental duty?
1) To develop the scientific temper. 2) To safeguard public property

3) To cast vote in the election 4) To respect the Constitution and its ideals.

TNTRBRITS WlefieTdeh! DIt el fafed PruaTd 3Mett 3imed ?

37) THIARICR GG xoy ¥) SIS favqar ot vor

%) QAT ARETUT ROy g) oISHN) HaT STy

3) FF AR BRI Hfgad wxor %) AT FaSUmmed HAGH ol
g IR :

9) Feh 3, FAMTPH ) Feh , SIS 3) Fh S, S3MU®H Q) Tch D
Which one of the following duties have been prescribed for the citizens?

a) To organize village panchayats b) To minimize inequalities in income
c¢) To defend the country d) To render military service
e) To secure uniform civil code f) To vote in public elections

Answer Options :
1) Only a,band c 2)Onlyb,dand e 3)Only d, e and f 4) Only ¢

HERTE IASTUT ARRY HaT GEURIETT AT : FERTE 10T HRE - HIRRT IISTHROT SATf0T oI / ¢¢
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(9Y4) TSI AT 885 STRAIRT —UHURRARA, THORICRIT, ToRAtadt

9)
?)
3)

)

1)

Q)

2)

3)

3)

T 9 1S 14T g8 T

TR, TodRel, Teeiiei=it

q) IR T ST H9 825 RN

ST 3TIOT IeHR I HIaT gep SN SR .......... a7 fCaeft Fus.

q) 39 3ffFCR 9 Q) 94 IMRT 9] 3) 39 TR 098 8) 9 STHART 200
The Jammu and Kashmir State Human Rights Commission ceased to exist from .........
1) 31* October 2019 2) 15th August 2019 3) 31* December 2019 4) 1% January 2020

RTERT AFATRIGR TR S8l ST AR FHUd WIBIGUDh! AR TGN A PR
a) BB 3regel b) ISTANT JUTTE ) BpaAciie ORI gema

d) sTddie R ger e) TaueT f) PRI TEHA
I iy e

1) (a),(c),(e) 3T (f) ?) (a),(c)3fr (e)

3) (a),(c),(d) 3for (e) 8) (a),(b),(c),(d),(e) 3for (f)

The Chairman and Members of the National Human Rights Commission are appointed on the
recommendation of a committee consisting of :

a) Speaker of the .ok Sabha b) Deputy Chairman of the Rajya Sabha

c) Leader of the Opposition in the Lok Sabha d) Leader of the Opposition in the Rajya Sabha
e) Prime Minister f) Union Home Minister

Select the correct answer from the codes given below :

1) (a),(c),(e) and (f) 2)(a),(c) and (e)

3) (a),(c),(d) and (e) 4) (a),(b),(c),(d),(e) and (f)

RTERT AATIRR SR Sreaer Fehr srel eachiear Afdiear R e IFIGRT dheft ST 2
Tetertdht <o a1 AT wi (Few) s gt

37) gauu™ ) Tl

®) Apadier faRIedt ger Adr g) ST faRiedt ger =an

3) AEaET FHI ) STANT Teel

g IR :

9) Beh § ) %eh § 31T 8 3) Beh 5 MO & ¥) Heh B

The Chairman of National Human Rights Commission is appointed by the President on the
recommendation of a committee of certain persons. Who among the following is/are not part of
that committee?

a) The Prime Minister

b) The Home Minister

c) Leader of the Opposition party in the Lok Sabha

d) Leader of the Opposition party in the Rajya Sabha

e) The Speaker of the Lok Sabha

f) The Chairman of the Rajya Sabha

Answer Options :

1) Only b 2)Onlybandd 3)Onlyeand f 4) Only f
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?) TIRIRT, TAUHCRT, THRAtERit

3) S IR, Afgel, §Tel ST
RgTeiedeh! IT ITERT Higel IR Ufdedr areel giedn ?
9) ST geRID ?) . oM Srearft
3) . <@l Afeh i g) faur urefrReft
Who among the following was the first Chairperson of the National Commission for Women?
1) Jayanti Patnaik 2) Dr. Poornima Advani
3) Dr. V. Mohini Giri 4) Vibha Parthasarathy
ET SR St (TH.HT.) SR I5ge- <] HIUA] HeIIIR FATIT HRUITT 3T 3MME 2
) P 3309 R) P 33¢ 3) P 33% g) Do 334

The National Commission for Scheduled Castes (SC) is constituted by which Article of the
Constitution?
1) Article 337 2) Article 338 3) Article 336 4) Article 335

TRIET SAMH HURTST WHdT &l 3 ?

37) PHRUN 3Te3 SO 9T 37E & TSI Podel.

¥) PR UGS AU RIEAT 318 § AT ool

%) PRUN AT G YU JRTh AWUR ARl & ST Dol

) BHRUT ST LR AUV Gu TG A9 et Siefguf dhod dTfes @ HIUNATAT ol

gt SR :

9) (ar) smfor () ?) (@) Mfor () 3) (an),(3) 1 () ) (), (F) 3fr (3)

Why does the sense of death make a person profound?

a) Because he knows that our existence is eternal.

b) Because he knows that his survival is dependent.

c¢) Because he knows that his death will not stop the entire cycle of creation.

d) Because man knows that life will end at some point but before that we must do something
meaningful.

Answer Options :
1) (a) and (b) 2) (b) and (c) 3) (a), (b) and (c) 4) (b), (c) and (d)
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THUGRRATET JISIAaT GauRtaiciter e
HERTE A0 URA — R ITSTHROT STfOT IR

(9) ARY™ - YRAE=AT

(9) SRR, |, wfticn, /g
q) ffeer Srriter GfdemHTr Schicl @

() AfRYMRN YR<TEHT, 3%h a
q9) YRR ISl ARAMT1/
QeI — TR YT 9 T

-3

3) YR SfQUE Jerqd HReT -
ke A 2
9-3 -9 3-3  8-%  4-3  §-3
9-3 -9 R-3 90-%
3) SifaYTRN S AfdreRl
9-3
g) SifdaMRite Haware doH 9 aRdag!
ki 1 4 e 1
9= -3 3-8  ¥-%
y) dfdemred aRkfore
-3 -3 3-R
(3) EIE-'-IIE}’RT-‘I, AT SR
3T Hsd
q) EHCAIGHREI Ufshdl  Hewaredl
Hdﬂlg‘b‘(ﬂl
9-% -9 3-3 8—9 4-9 &—9
-2 -9 R-%
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